THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

#### Bid Committee Bid Tab

# Bid UPSR-0001 Ended At Mar 5, 2025 10:00:00 AM CST CONSTRUCTION/CITY - Street Repairs

Company:	Arroyos Concrete LLC	EMC SERVICES LLC	Rudy Construction Co.
BASE BID	\$4,190,280.00	\$4,221,272.50	\$4,358,450.00
TOTAL BID:	\$4,190,280.00	\$4,221,272.50	\$4,358,450.00

Company:	Ellsworth Construction OKC dba A- Tech Paving	Silver Star Construction Company	
BASE BID	\$4,552,219.63	\$5,213,181.50	
TOTAL BID:	\$4,552,219.63	\$5,213,181.50	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

## Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

## **Bid #UPSR-0001 - Street Repairs**

Creation Date **Jan 15, 2025** End Date **Mar 5, 2025 10:00:00 AM CST** 

Start Date Feb 12, 2025 7:44:02 AM CST Awarded Date Not Yet Awarded

UPSR-0001-01-01 BASE BID: 200-01 UNSUITABLE MATER	IAL EXCAVATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$9.10	1300 / cubic yard	\$11,830.00	J	Ú
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
Arroyos Concrete LLC	First Offer - \$10.00	1300 / cubic yard	\$13,000.00	Ú	Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Bid bond was included here.				
EMC SERVICES LLC	First Offer - \$12.00	1300 / cubic yard	\$15,600.00	Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: BID BOND ATTACHED TO THIS PAY ITEM			
Rudy Construction Co.	First Offer - \$15.00	1300 / cubic yard	\$19,500.00		Ú
		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$18.06	1300 / cubic yard	\$23,478.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

UPSR-0001-01-02 BASE BID: 202-00 UNCLASSIFIED BOR	RROW					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$12.00	500 / cubic yard	\$6,000.00		Ú
Product Code:			Supplier Product Code	):	'	
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$12.00	500 / cubic yard	\$6,000.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$25.00	500 / cubic yard	\$12,500.00		Ú
Product Code:			Supplier Product Code	· :		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$29.58	500 / cubic yard	\$14,790.00		Ú
Product Code:			Supplier Product Code	):	'	
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$47.00	500 / cubic yard	\$23,500.00		Ú
Product Code:			Supplier Product Code	):	'	
Agency Notes:			Supplier Notes:			

UPSR-0001–01-03 BASE BID: 220-02 PROOF ROLLING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$0.05	10000 / square yard	\$500.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Arroyos Concrete LLC	First Offer - \$0.05	10000 / square yard	\$500.00		Ð			

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
EMC SERVICES LLC	First Offer - \$0.10	10000 / square yard	\$1,000.00	- U
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.20	10000 / square yard	\$2,000.00	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Silver Star Construction Company	First Offer - \$0.25	10000 / square yard	\$2,500.00	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		,

UPSR-0001-01-04 BASE BID: 225-02 TYPE A AGGREGA	ATE BA	SE					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC		First Offer - \$65.00	1300 / cubic yard	\$84,500.00		Ú	
Product Code:			Supplier Product Code	:			
Agency Notes:			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$70.00	1300 / cubic yard	\$91,000.00		J	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$75.00	1300 / cubic yard	\$97,500.00		J	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$91.00	1300 / cubic yard	\$118,300.00		Ú	
Product Code:			Supplier Product Code	:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$107.96	1300 / cubic yard	\$140,348.00		Ú	
Product Code:			Supplier Product Code	:			
Agency Notes:			Supplier Notes:				

UPSR-0001-01-05 BASE BID: 301-04 SUPERPAVE TYPE S	6 (PC	64-22 OK)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$117.83	500 / ton	\$58,915.00		J
			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$135.00	500 / ton	\$67,500.00		Ú)
			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$149.60	500 / ton	\$74,800.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$150.00	500 / ton	\$75,000.00		Ú
Product Code: Agency Notes:	'		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company		First Offer - \$177.00	500 / ton	\$88,500.00		Ú
Product Code: Agency Notes:		1	Supplier Product C Supplier Notes:	Code:		

UPSR-0001-01-06 BASE BID: 301-05 SUPERPAVE TYPE S3 (PG 64-22 OK)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$106.60	1000 / ton	\$106,600.00		Ú		

		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$110.00	1000 / ton	\$110,000.00	Ú	
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company		First Offer - \$118.00	1000 / ton	\$118,000.00	Ú	
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:		
Arroyos Concrete LLC		First Offer - \$130.00	1000 / ton	\$130,000.00	J	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$138.60	1000 / ton	\$138,600.00	Ú	
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:		

UPSR-0001-01-07 BASE BID: 301-06 SUPERPAVE TYPE	S5 (PG	i 64-22 OK)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$119.95	2500 / ton	\$299,875.00		Ú
Product Code:			Supplier Product (	Code:	'	
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$135.00	2500 / ton	\$337,500.00		Ú
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$135.00	2500 / ton	\$337,500.00		Ú
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$143.00	2500 / ton	\$357,500.00		Ú
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$147.00	2500 / ton	\$367,500.00		Ú
Product Code:			Supplier Product (	Code:	·	
Agency Notes:			Supplier Notes:			

UPSR-0001-01-08 BASE BID: 301-07 ASPHALT CONCRETE T	YPE S6 (PG 64-22 OK) CR	ACK FILLING			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$385.00	10 / ton	\$3,850.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.	First Offer - \$400.00	10 / ton	\$4,000.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Arroyos Concrete LLC	First Offer - \$400.00	10 / ton	\$4,000.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$485.27	10 / ton	\$4,852.70		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company	First Offer - \$575.00	10 / ton	\$5,750.00		Ú
Product Code: Agency Notes:	,	Supplier Product Co Supplier Notes:	ode:	'	

### UPSR-0001-01-09 BASE BID: 303-07 ASPHALT CRACK REPAIR-2 INCHES AND WIDER

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC		First Offer - \$2.20	2000 / linear foot	\$4,400.00		J	
Product Code:			Supplier Product Code:		'		
Agency Notes:			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$2.50	2000 / linear foot	\$5,000.00		J	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$6.00	2000 / linear foot	\$12,000.00		J	
Product Code:			Supplier Product Code:	'	'		
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$13.10	2000 / linear foot	\$26,200.00		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$18.90	2000 / linear foot	\$37,800.00		J	
Product Code:			Supplier Product Code:		'		
Agency Notes:			Supplier Notes:				

UPSR-0001-01-10 BASE BID: 303-50 FIBER REINFORCE	D POL	YMER PATCHING MA	TERIAL (HMA)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$1.00	43000 / pound	\$43,000.00		Ŋ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$2.50	43000 / pound	\$107,500.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.92	43000 / pound	\$168,560.00		Ú
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$3.95	43000 / pound	\$169,850.00		Ú
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$4.00	43000 / pound	\$172,000.00		Ŋ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

UPSR-0001-01-11 BASE BID: 303-51 FIBER REINFORCED	POL	YMER PATCHING MA	TERIAL (PCC)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$3.95	33000 / pound	\$130,350.00		Ú
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$4.00	33000 / pound	\$132,000.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$4.00	33000 / pound	\$132,000.00		Ð
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.09	33000 / pound	\$167,970.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$7.40	33000 / pound	\$244,200.00		Ú
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			

UPSR-0001-01-12 BASE BID: 303-55 HIGH DENSITY MINE	UPSR-0001–01-12 BASE BID: 303-55 HIGH DENSITY MINERAL BOND (ADVANCE PERFORMANCE PAVEMENT PRESERVATION)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Arroyos Concrete LLC	First Offer - \$4.00	50000 / square yard	\$200,000.00		J			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
EMC SERVICES LLC	First Offer - \$4.15	50000 / square yard	\$207,500.00		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co.	First Offer - \$4.40	50000 / square yard	\$220,000.00		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$4.70	50000 / square yard	\$235,000.00		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.10	50000 / square yard	\$255,000.00		Ð			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,					

UPSR-0001-01-13 BASE BID: 304-06 PORTLAND CEMENT	CONCRETE PAVEMENT	(8 INCH)(HES) (VALLEY G	UTTERS)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$92.00	1000 / square yard	\$92,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$95.00	1000 / square yard	\$95,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$120.00	1000 / square yard	\$120,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$138.10	1000 / square yard	\$138,100.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$140.00	1000 / square yard	\$140,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

UPSR-0001-01-14 BASE BID: 304-51 PCC PAVEMENT (6 IN	NCH)(3000 PSI CLASS A)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$70.00	2800 / square yard	\$196,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$72.27	2800 / square yard	\$202,356.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$79.00	2800 / square yard	\$221,200.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$90.00	2800 / square yard	\$252,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Silver Star Construction Company	First Offer - \$106.00	2800 / square yard	\$296,800.00	J
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$80.00	2800 / square yard	\$224,000.00		Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$87.06	2800 / square yard	\$243,768.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$89.00	2800 / square yard	\$249,200.00		Û
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$95.00	2800 / square yard	\$266,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$119.20	2800 / square yard	\$333,760.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'	

UPSR-0001-01-16 BASE BID: 304-53 PCC PAVEMENT	(10 II	NCH)(DOWELL JOINTED	))(3000 PSI CLASS A)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC		First Offer - \$85.00	2800 / square yard	\$238,000.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$94.00	2800 / square yard	\$263,200.00		Ú)
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$97.32	2800 / square yard	\$272,496.00		Ú)
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$100.00	2800 / square yard	\$280,000.00		Ú
Product Code:		•	Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$139.00	2800 / square yard	\$389,200.00		Ú
Product Code:		•	Supplier Product Code:			
Agency Notes:			Supplier Notes:			

UPSR-0001-01-17 BASE BID: 304-59 SMALL UTILITY PAY	/EMENT REPAIR (8 INCH) (	(4000 PSI CLASS AA HES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$109.00	500 / square yard	\$54,500.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$110.00	500 / square yard	\$55,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$115.00	500 / square yard	\$57,500.00		Ú
Product Code:	1 1	Supplier Product Code:			
Agency Notes:		Supplier Notes:			

Rudy Construction Co.	First Offer - \$120.00	500 / square yard	\$60,000.00	J
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$137.95	500 / square yard	\$68,975.00	Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	·

UPSR-0001-01-18 BASE BID: 305-00 CURB AND GUTTER					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$33.00	2000 / linear foot	\$66,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$35.00	2000 / linear foot	\$70,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$35.00	2000 / linear foot	\$70,000.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$35.00	2000 / linear foot	\$70,000.00		Ŋ
Product Code: Agency Notes:	•	Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving.	First Offer - \$38.25	2000 / linear foot	\$76,500.00		Ŋ
Product Code: Agency Notes:	'	Supplier Product Code: Supplier Notes:			

UPSR-0001-01-19 BASE BID: 305-02 INTEGRAL CURB	(BARR	IER)(6 INCH)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$8.50	1000 / linear foot	\$8,500.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$10.00	1000 / linear foot	\$10,000.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$10.00	1000 / linear foot	\$10,000.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$10.00	1000 / linear foot	\$10,000.00		Ú
Product Code:			Supplier Product Code:		'	
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$14.10	1000 / linear foot	\$14,100.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

UPSR-0001–01-20 BASE BID: 305-04 INTEGRAL CURB (BARRIER)(8 INCH)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company		First Offer - \$9.65	500 / linear foot	\$4,825.00		Ú		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					
Arroyos Concrete LLC		First Offer - \$10.00	500 / linear foot	\$5,000.00		Ú		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					

Rudy Construction Co.		First Offer - \$12.00	500 / linear foot	\$6,000.00	0		
			Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC		First Offer - \$12.00	500 / linear foot	\$6,000.00	U		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$19.08	500 / linear foot	\$9,540.00	U		
Product Code: Agency Notes:	·		Supplier Product Code: Supplier Notes:				

UPSR-0001-01-21 BASE BID: 309-02 COLD MILLING PAV	/EMENT (ASPHALT Up t	o 4 INCHES)(FINE MILL)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$2.00	10000 / square yard	\$20,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$2.00	10000 / square yard	\$20,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.71	10000 / square yard	\$27,100.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$3.50	10000 / square yard	\$35,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'	
Silver Star Construction Company	First Offer - \$9.00	10000 / square yard	\$90,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	'		

UPSR-0001-01-22 BASE BID: 310-03 ASPHALT CRACK REP	AIR-0 INCH TO 3/4 INCH	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$2.20	1000 / linear foot	\$2,200.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$2.20	1000 / linear foot	\$2,200.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.50	1000 / linear foot	\$3,500.00		J	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$18.50	1000 / linear foot	\$18,500.00		Ú	
Product Code: Agency Notes:	,	Supplier Product Code: Supplier Notes:				

UPSR-0001–01-23 BASE BID: 310-04 ASPHALT CRACK REPAIR-GREATER THAN 3/4 INCH TO LESS THAN 2 INCHES								
Supplier Unit Price Qty/Unit Total Price Attch.								
EMC SERVICES LLC		First Offer - \$2.20	1000 / linear foot	\$2,200.00		J		
Product Code:			Supplier Product Code	2:				
Agency Notes:			Supplier Notes:					

Rudy Construction Co.	First Offer - \$3.00	1000 / linear foot	\$3,000.00	J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·
Arroyos Concrete LLC	First Offer - \$3.00	1000 / linear foot	\$3,000.00	- U
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.00	1000 / linear foot	\$4,000.00	U
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'
Silver Star Construction Company	First Offer - \$14.00	1000 / linear foot	\$14,000.00	U
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'

UPSR-0001-01-24 BASE BID: 310-05 CLEANING AND	SEALING	P.C. CONCRETE JO	INTS & CRACKS			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$2.50	1000 / linear foot	\$2,500.00		Ú
Product Code:			Supplier Product Code:	'	'	
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$2.75	1000 / linear foot	\$2,750.00		Ú
Product Code:			Supplier Product Code:	'	'	
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$3.00	1000 / linear foot	\$3,000.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$3.00	1000 / linear foot	\$3,000.00		Ú
Product Code:	1 1		Supplier Product Code:	'		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.58	1000 / linear foot	\$3,580.00		Ú
Product Code:	1 1		Supplier Product Code:	'		
Agency Notes:			Supplier Notes:			

UPSR-0001-01-25 BASE BID: 312-00 DIAMOND GRINDING	G P.C. CONC.				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$10.00	500 / square yard	\$5,000.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$10.00	500 / square yard	\$5,000.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$15.00	500 / square yard	\$7,500.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$20.00	500 / square yard	\$10,000.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$30.50	500 / square yard	\$15,250.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPSR-0001–01-26 BASE BID: 309-20 SIDEWALK TRIP HAZE	ARD REMOVAL (PCC GRII	NDING)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

EMC SERVICES LLC	First Offer - \$8.00	500 / linear foot	\$4,000.00	l O
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$10.00	500 / linear foot	\$5,000.00	J
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$10.00	500 / linear foot	\$5,000.00	J
Product Code:		Supplier Product Code:	·	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12.99	500 / linear foot	\$6,495.00	Ú
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Arroyos Concrete LLC	First Offer - \$15.00	500 / linear foot	\$7,500.00	Ú
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

UPSR-0001-01-27 BASE BID: 313-00 TACK COAT (ULTRA	ATACK	)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$4.90	2000 / gallon	\$9,800.00		Ŋ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$5.00	2000 / gallon	\$10,000.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$5.50	2000 / gallon	\$11,000.00		Ú
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$5.50	2000 / gallon	\$11,000.00		Ŋ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$7.50	2000 / gallon	\$15,000.00		Ð
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

UPSR-0001-01-28 BASE BID: 404-00 STRUCTURAL CONCRE	TE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC	First Offer - \$500.00	50 / cubic yard	\$25,000.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$513.48	50 / cubic yard	\$25,674.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Arroyos Concrete LLC	First Offer - \$550.00	50 / cubic yard	\$27,500.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$600.00	50 / cubic yard	\$30,000.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Silver Star Construction Company	First Offer - \$1,157.50	50 / cubic yard	\$57,875.00		Ú	
Product Code: Agency Notes:	1	Supplier Product Co Supplier Notes:	de:			

UPSR-0001-01-29 BASE BID: 404-04 CONCRETE (FLOWABL	LEI	FILL)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.		First Offer - \$215.00	200 / cubic yard	\$43,000.00		Ú	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC		First Offer - \$225.00	200 / cubic yard	\$45,000.00		Ú	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:			
Ellsworth Construction OKC dba A-Tech Paving.		First Offer - \$227.58	200 / cubic yard	\$45,516.00		J	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$250.00	200 / cubic yard	\$50,000.00		Ú	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$503.50	200 / cubic yard	\$100,700.00		J	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:			

UPSR-0001-01-30 BASE BID: 411-00 REINFORCING STEEL						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC		First Offer - \$2.00	5000 / pound	\$10,000.00		Ð
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2.08	5000 / pound	\$10,400.00		Ú
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
EMC SERVICES LLC		First Offer - \$2.10	5000 / pound	\$10,500.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$2.50	5000 / pound	\$12,500.00		Ú
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	de:		
Silver Star Construction Company		First Offer - \$4.30	5000 / pound	\$21,500.00		Ú
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		

UPSR-0001-01-31 BASE BID: 451-01 CGMP STORM PIPE (18	INCHES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$50.00	200 / linear foot	\$10,000.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$50.00	200 / linear foot	\$10,000.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$50.00	200 / linear foot	\$10,000.00		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company	First Offer - \$62.00	200 / linear foot	\$12,400.00		J
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$85.31	200 / linear foot	\$17,062.00		Ú

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

UPSR-0001-01-32 BASE BID: 451-05 (CGMP) STORM PIPE	(24	1 INCHES)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC		First Offer - \$55.00	200 / linear foot	\$11,000.00		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$60.00	200 / linear foot	\$12,000.00		Ð	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$60.00	200 / linear foot	\$12,000.00		Ð	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$65.00	200 / linear foot	\$13,000.00		Ð	
Product Code:			Supplier Product Code	): :			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$89.79	200 / linear foot	\$17,958.00		Ú	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				

UPSR-0001-01-33 BASE BID: 452-07 POLYPROPYLENE PIP	PE (18 INCHES)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Arroyos Concrete LLC	First Offer - \$45.00	100 / linear foot	\$4,500.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$50.00	100 / linear foot	\$5,000.00		Ú	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$50.00	100 / linear foot	\$5,000.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$65.45	100 / linear foot	\$6,545.00		Ú	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$91.00	100 / linear foot	\$9,100.00		Ú	
Product Code: Agency Notes:	· ·	Supplier Product Code Supplier Notes:	:			

UPSR-0001–01-34 BASE BID: 452-08 POLYPROPYLENE PIPE (24 INCHES)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.		First Offer - \$60.00	100 / linear foot	\$6,000.00		J			
Product Code:			Supplier Product Cod	le:					
Agency Notes:			Supplier Notes:						
EMC SERVICES LLC		First Offer - \$60.00	100 / linear foot	\$6,000.00		J			
Product Code:			Supplier Product Cod	le:					
Agency Notes:			Supplier Notes:						
Arroyos Concrete LLC		First Offer - \$80.00	100 / linear foot	\$8,000.00		Ú			
Product Code:			Supplier Product Cod	le:					
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$86.93	100 / linear foot	\$8,693.00		Ú			

Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$118.00	100 / linear foot	\$11,800.00		J
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

UPSR-0001-01-35 BASE BID: 451-11 (CGMP) STORM P	IPE EN	D SECTION (18 INCHES)	)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC		First Offer - \$400.00	6 / each	\$2,400.00		Ú
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$500.00	6 / each	\$3,000.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$500.00	6 / each	\$3,000.00		J
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$527.49	6 / each	\$3,164.94		Ú
Product Code:			Supplier Product (	Code:	'	
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$567.00	6 / each	\$3,402.00		Ú
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			

UPSR-0001-01-36 BASE BID: 451-12 (CGMP) STORM PIPE B	ND SECTION (24 INCHES	)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$600.00	6 / each	\$3,600.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$640.34	6 / each	\$3,842.04		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC	First Offer - \$650.00	6 / each	\$3,900.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$650.00	6 / each	\$3,900.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company	First Offer - \$696.00	6 / each	\$4,176.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

UPSR-0001-01-37 BASE BID: 453-00 REINFORCED CONCRE	TE PIPE (18 INCHES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$65.00	100 / linear foot	\$6,500.00		J
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$68.00	100 / linear foot	\$6,800.00		J
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$72.85	100 / linear foot	\$7,285.00		J

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Rudy Construction Co.	First Offer - \$75.00	100 / linear foot	\$7,500.00	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$90.41	100 / linear foot	\$9,041.00	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

UPSR-0001-01-38 BASE BID: 453-01 REINFORCED CONC	CRETE PIPE (24 INCHES)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Arroyos Concrete LLC	First Offer - \$80.00	100 / linear foot	\$8,000.00		J	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>			
Silver Star Construction Company	First Offer - \$81.40	100 / linear foot	\$8,140.00		Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>			
Rudy Construction Co.	First Offer - \$85.00	100 / linear foot	\$8,500.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$85.00	100 / linear foot	\$8,500.00		Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b> :			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$126.70	100 / linear foot	\$12,670.00		Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:			

UPSR-0001-01-39 BASE BID: 453-19 REINFORCED CO	NCRETI	E PIPE END SECTION (18	INCHES)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.		First Offer - \$1,100.00	4 / each	\$4,400.00		Ú	
		Supplier Product Code: Supplier Notes:					
EMC SERVICES LLC		First Offer - \$1,150.00	4 / each	\$4,600.00		Ú	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1,173.01	4 / each	\$4,692.04		Ú	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$1,200.00	4 / each	\$4,800.00		J	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Arroyos Concrete LLC		First Offer - \$1,200.00	<del>                                     </del>	\$4,800.00		J	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			

UPSR-0001–01-40 BASE BID: 453-25 REINFORCED CONCRETE PIPE END SECTION (24 INCHES)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC		First Offer - \$1,250.00	4 / each	\$5,000.00		Ú			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Arroyos Concrete LLC		First Offer - \$1,250.00	4 / each	\$5,000.00		Ú			

			Supplier Product Code: Supplier Notes:		
Rudy Construction Co.		First Offer - \$1,400.00	4 / each	\$5,600.00	J
Product Code: Agency Notes:	'		Supplier Product C Supplier Notes:	ode:	
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1,456.06	4 / each	\$5,824.24	U
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
Silver Star Construction Company		First Offer - \$1,510.00	4 / each	\$6,040.00	J
		Supplier Product C Supplier Notes:	ode:	'	

UPSR-0001-01-41 BASE BID: 454-34 DESIGN 2-0 INLET COI	MPLETE IN PLACE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC	First Offer - \$3,500.00	5 / each	\$17,500.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Arroyos Concrete LLC	First Offer - \$3,800.00	5 / each	\$19,000.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$4,500.00	5 / each	\$22,500.00		Ð	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$5,196.00	5 / each	\$25,980.00		Ð	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6,208.32	5 / each	\$31,041.60		Ð	
Product Code: Agency Notes:	1	Supplier Product Co Supplier Notes:	ode:			

UPSR-0001-01-42 BASE BID: 454-37 DESIGN 2-1 INLET CO	MPLETE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$4,200.00	2 / each	\$8,400.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Arroyos Concrete LLC	First Offer - \$4,500.00	2 / each	\$9,000.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company	First Offer - \$5,464.00	2 / each	\$10,928.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.	First Offer - \$6,000.00	2 / each	\$12,000.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$17,954.89	2 / each	\$35,909.78		J
Product Code: Agency Notes:	,	Supplier Product Co Supplier Notes:	ode:		

UPSR-0001–01-43 BASE BID: 454-88 STORM WATER CURB OPENING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$300.00	5 / each	\$1,500.00		Ú		

			Supplier Product Code: Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$300.00	5 / each	\$1,500.00	Ú		
			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$350.00	5 / each	\$1,750.00	Ú		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:			
EMC SERVICES LLC		First Offer - \$380.00	5 / each	\$1,900.00	Ú		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$567.47	5 / each	\$2,837.35	- U		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:			

UPSR-0001-01-44 BASE BID: 454-92 REBUILD EXISTIN	IG CUR	B INLET				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC		First Offer - \$1,500.00	10 / each	\$15,000.00		J
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$2,000.00	10 / each	\$20,000.00		J
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$2,000.00	10 / each	\$20,000.00		J
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$2,303.00	10 / each	\$23,030.00		J
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3,257.12	10 / each	\$32,571.20		Ú
Product Code:			Supplier Product Co	ode:	'	
Agency Notes:			Supplier Notes:			

UPSR-0001-01-45 BASE BID: 459-01 ADJUST MANHOLE	то	GRADE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$550.00	20 / each	\$11,000.00		J
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$550.00	20 / each	\$11,000.00		Ú
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$715.90	20 / each	\$14,318.00		J
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$750.00	20 / each	\$15,000.00		J
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$867.00	20 / each	\$17,340.00		J
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

## UPSR-0001-01-46 BASE BID: 460-00 PROVIDE AND SET NEW MANHOLE RING & COVER

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company		First Offer - \$589.00	5 / each	\$2,945.00		Ú	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				
<u>Arroyos Concrete LLC</u>		First Offer - \$650.00	5 / each	\$3,250.00		Ð	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$680.00	5 / each	\$3,400.00		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$715.90	5 / each	\$3,579.50		Ú	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$750.00	5 / each	\$3,750.00		Ú	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				

UPSR-0001-01-47 BASE BID: 511-14 WATER SERVICE LINE	(1 INCH) (W/METER RELO	CATE)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$3,000.00	1 / each	\$3,000.00		Ú
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Silver Star Construction Company	First Offer - \$3,325.00	1 / each	\$3,325.00		Ð
		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving.	First Offer - \$3,482.95	1 / each	\$3,482.95		Ú
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Rudy Construction Co.	First Offer - \$3,500.00	1 / each	\$3,500.00		Ð
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Arroyos Concrete LLC	First Offer - \$3,500.00	1 / each	\$3,500.00		Ð
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

UPSR-0001-01-48 BASE BID: 511-27 WATER METER AI	DJUST 1	O GRADE							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.		First Offer - \$300.00	1 / each	\$300.00		Ú			
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
Arroyos Concrete LLC		First Offer - \$300.00	1 / each	\$300.00		Ú			
Product Code:			Supplier Product C	ode:	\$300.00 <b>U</b>				
Agency Notes:			Supplier Notes:						
EMC SERVICES LLC		First Offer - \$320.00	1 / each	\$320.00		Ú			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$321.00	1 / each	\$321.00		J			
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$357.95	1 / each	\$357.95		Ú			
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						

UPSR-0001-01-49 BASE BID: 516-02 REMOVE AND RELO	CATE FIRE HYDRANT						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC	First Offer - \$6,000.00	1 / each	\$6,000.00		Ú		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Arroyos Concrete LLC	First Offer - \$6,000.00	1 / each	\$6,000.00		Ú		
		Supplier Product Co Supplier Notes:	ode:				
Silver Star Construction Company	First Offer - \$8,061.00	1 / each	\$8,061.00		J		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Rudy Construction Co.	First Offer - \$10,000.00	1 / each	\$10,000.00		Ú)		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12,000.00	1 / each	\$12,000.00		Ú		
Product Code: Agency Notes:	1 1	Supplier Product Co Supplier Notes:	ode:				

UPSR-0001-01-50 BASE BID: 520-03 VALVE BOX ADJUST TO	GRADE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$200.00	30 / each	\$6,000.00		J
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
EMC SERVICES LLC	First Offer - \$220.00	30 / each	\$6,600.00		J
		Supplier Product Cod Supplier Notes:	de:		
Arroyos Concrete LLC	First Offer - \$250.00	30 / each	\$7,500.00		Ú
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$268.46	30 / each	\$8,053.80		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:		
Silver Star Construction Company	First Offer - \$321.00	30 / each	\$9,630.00		Ú
Product Code: Agency Notes:	'	Supplier Product Coo Supplier Notes:	de:	'	

UPSR-0001-01-51 BASE BID: 520-15 WATER VALVE BOX							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC	First Offer - \$220.00	5 / each	\$1,100.00		J		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Rudy Construction Co.	First Offer - \$250.00	5 / each	\$1,250.00		Ú		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Arroyos Concrete LLC	First Offer - \$250.00	5 / each	\$1,250.00		Ú		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$273.24	5 / each	\$1,366.20		Ú		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·			

Product Code: Agency Notes:		Supplier Product Co	ode:	
Silver Star Construction Company	First Offer - \$589.00	5 / each	\$2,945.00	Ũ

UPSR-0001-01-52 BASE BID: 520-16 WATER METER B	OX (TR	AFFIC TYPE)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC		First Offer - \$350.00	5 / each	\$1,750.00		Ú		
Product Code: Agency Notes:	'		Supplier Product Supplier Notes:	Code:				
Arroyos Concrete LLC		First Offer - \$350.00	5 / each	\$1,750.00		Ú		
Product Code: Agency Notes:	'		Supplier Product Supplier Notes:	Code:				
Rudy Construction Co.		First Offer - \$400.00	5 / each	\$2,000.00		Ú		
Product Code: Agency Notes:	'		Supplier Product Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$422.49	5 / each	\$2,112.45		Ú		
Product Code: Agency Notes:	'	'	Supplier Product Supplier Notes:	Code:				
Silver Star Construction Company		First Offer - \$455.00	5 / each	\$2,275.00		J		
Product Code: Agency Notes:		1	Supplier Product Supplier Notes:	Code:				

UPSR-0001-01-53 BASE BID: 729-10 REMOVE AND RELOCA	TE SIGN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$250.00	5 / each	\$1,250.00		J			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	200				
Arroyos Concrete LLC	First Offer - \$250.00	5 / each	\$1,250.00		Ú			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Silver Star Construction Company	First Offer - \$267.00	5 / each	\$1,335.00		Ú			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Rudy Construction Co.	First Offer - \$275.00	5 / each	\$1,375.00		J			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$287.50	5 / each	\$1,437.50		Ú			
		Supplier Product Co Supplier Notes:	ode:					

UPSR-0001–01-54 BASE BID: 735-00 TRAFFIC STRIPE (4 INCH WIDE)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company		First Offer - \$2.15	1000 / linear foot	\$2,150.00		J				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2.30	1000 / linear foot	\$2,300.00		Ú				
Product Code:			Supplier Product Code:	-						
Agency Notes:			Supplier Notes:							
Rudy Construction Co.		First Offer - \$3.50	1000 / linear foot	\$3,500.00		J				
Product Code:			Supplier Product Code:	'						
Agency Notes:			Supplier Notes:							

Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
EMC SERVICES LLC	First Offer - \$9.25	1000 / linear foot	\$9,250.00	Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Arroyos Concrete LLC	First Offer - \$4.00	1000 / linear foot	\$4,000.00	Ú

UPSR-0001-01-55 BASE BID: 735-02 TRAFFIC STRIPE (6	INC	H WIDE)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$3.20	1000 / linear foot	\$3,200.00		J
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.45	1000 / linear foot	\$3,450.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	:		
Rudy Construction Co.		First Offer - \$3.65	1000 / linear foot	\$3,650.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$5.00	1000 / linear foot	\$5,000.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$14.25	1000 / linear foot	\$14,250.00		Ú
Product Code: Agency Notes:		1	Supplier Product Code: Supplier Notes:	:		

UPSR-0001-01-56 BASE BID: 735-06 TRAFFIC STRIPE (ARI	ROV	VS)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$80.00	10 / each	\$800.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$86.25	10 / each	\$862.50		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.		First Offer - \$100.00	10 / each	\$1,000.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Arroyos Concrete LLC		First Offer - \$440.00	10 / each	\$4,400.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC		First Offer - \$650.00	10 / each	\$6,500.00		Ú
Product Code: Agency Notes:		1	Supplier Product Co Supplier Notes:	ode:		

UPSR-0001–01-57 BASE BID: 735-07 TRAFFIC STRIPE (8 INCH WIDE)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Arroyos Concrete LLC		First Offer - \$8.00	100 / linear foot	\$800.00		J			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$10.70	100 / linear foot	\$1,070.00		J			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						

First Offer - \$11.00	100 / linear foot	\$1,100.00	0			
		Supplier Product Code: Supplier Notes:				
First Offer - \$11.50	100 / linear foot	\$1,150.00	Ú			
	Supplier Product Code: Supplier Notes:					
First Offer - \$18.65	100 / linear foot	\$1,865.00	Ú			
		Supplier Product Code:				
	First Offer - \$11.50	Supplier Notes:  First Offer - \$11.50	Supplier Product Code: Supplier Notes:  First Offer - \$11.50  100 / linear foot  \$1,150.00  Supplier Product Code: Supplier Notes:  First Offer - \$18.65  100 / linear foot  \$1,865.00  Supplier Product Code:			

UPSR-0001-01-58 BASE BID: 735-08 TRAFFIC STRIPE (	(12 INCI	H WIDE)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
<u>Arroyos Concrete LLC</u>		First Offer - \$10.00	100 / linear foot	\$1,000.00		Ú	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$10.70	100 / linear foot	\$1,070.00		Ú	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$11.00	100 / linear foot	\$1,100.00		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$11.50	100 / linear foot	\$1,150.00		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$26.50	100 / linear foot	\$2,650.00		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

UPSR-0001-01-59 BASE BID: 735-09 TRAFFIC STRIPE (24	INC	H WIDE)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$16.05	250 / linear foot	\$4,012.50		J
		Supplier Product Code Supplier Notes:	<b>:</b>			
Rudy Construction Co.		First Offer - \$17.00	250 / linear foot	\$4,250.00		Ú
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$17.25	250 / linear foot	\$4,312.50		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$23.00	250 / linear foot	\$5,750.00		Ú
Product Code: Agency Notes:		1	Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$52.75	250 / linear foot	\$13,187.50		Ú
		Supplier Product Code Supplier Notes:	2:			

UPSR-0001–01-60 BASE BID: 735-10 TRAFFIC STRIPE (4 INCH WIDE)(SHADOW STRIPING)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Arroyos Concrete LLC		First Offer - \$8.80	100 / linear foot	\$880.00		J		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					

EMC SERVICES LLC		First Offer - \$10.00	100 / linear foot	\$1,000.00	U		
			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$10.70	100 / linear foot	\$1,070.00	l l		
			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$11.00	100 / linear foot	\$1,100.00	J		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$11.50	100 / linear foot	\$1,150.00	U		
		Supplier Product Code: Supplier Notes:					

UPSR-0001-01-61 BASE BID: 735-11 TRAFFIC STRIPE	(PLASTIC)(SYMBOLD)(RR TRACI	(S)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$589.00	5 / each	\$2,945.00		Ð	
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$632.50	5 / each	\$3,162.50		Ú	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$750.00	5 / each	\$3,750.00		Ŋ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$1,000.00	5 / each	\$5,000.00		Ð	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$3,500.00	5 / each	\$17,500.00		Ð	
		Supplier Product Supplier Notes:	Code:			

UPSR-0001-01-62 BASE BID: 735-30 TRAFFIC STRIPE (MU	LTI-POLYMER) (BIKE LANE	SYMBOL & PAINT)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$1,500.00	2 / each	\$3,000.00		J
		Supplier Product Supplier Notes:	Code:		
EMC SERVICES LLC	First Offer - \$2,250.00	+	\$4,500.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$2,750.00	2 / each	\$5,500.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$2,785.00	2 / each	\$5,570.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,990.00	2 / each	\$5,980.00		J
Product Code: Agency Notes:	1 1	Supplier Product Supplier Notes:	Code:		

UPSR-0001-01-63 BASE BID: 742-00 REMOVE TRAFFIC STR	IPE (4WIDE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Silver Star Construction Company		First Offer - \$2.15	500 / linear foot	\$1,075.00	Ú		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2.30	500 / linear foot	\$1,150.00	U		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$3.00	500 / linear foot	\$1,500.00	Ú		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$4.00	500 / linear foot	\$2,000.00	Ú		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$5.00	500 / linear foot	\$2,500.00	Ú		
Product Code:			Supplier Product Code:				
Agency Notes:		Agency Notes:					

UPSR-0001-01-64 BASE BID: 742-01 REMOVE TRAFFIC	STRIP	E (ARROWS)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC		First Offer - \$100.00	5 / each	\$500.00		Ú	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$110.00	5 / each	\$550.00		J	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$250.00	5 / each	\$1,250.00		J	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$267.00	5 / each	\$1,335.00		J	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$287.50	5 / each	\$1,437.50		J	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				

UPSR-0001–01-65 BASE BID: 742-02 REMOVE TRAFFIC STRI	PE (WORDS)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC	First Offer - \$100.00	5 / each	\$500.00		J	
		Supplier Product Code: Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$110.00	5 / each	\$550.00		J	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$250.00	5 / each	\$1,250.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$267.00	5 / each	\$1,335.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$287.50	5 / each	\$1,437.50		Ú	
Product Code: Agency Notes:	,	Supplier Product Co Supplier Notes:	ode:			

UPSR-0001-01-66 BASE BID: 811-11 STRUCTURE REMO	OVAL (STORM SEWER INLI	T)					
Supplier	Unit Pr	ice Qty/Unit	Total Price	Attch.	Docs		
Arroyos Concrete LLC	First Offer - \$500.	00 7 / each	\$3,500.00		Ú		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$523.	37 7 / each	\$3,663.59		Ú		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:				
Silver Star Construction Company	First Offer - \$733.	00 7 / each	\$5,131.00		Ú		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$750.	00 7 / each	\$5,250.00		Ú		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:				
EMC SERVICES LLC	First Offer - \$750.	00 7 / each	\$5,250.00		Ú		
		Supplier Product Supplier Notes:	t Code:				

UPSR-0001–01-67 BASE BID: 812-01 REMOVE SIDEWALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$9.00	1000 / square yard	\$9,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$10.00	1000 / square yard	\$10,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$10.70	1000 / square yard	\$10,700.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11.45	1000 / square yard	\$11,450.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$25.00	1000 / square yard	\$25,000.00		Ŋ
Product Code: Agency Notes:	,	Supplier Product Code: Supplier Notes:	,	'	

UPSR-0001-01-68 BASE BID: 812-03 REMOVE CURB AND 0	GUTTER					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$8.55	2000 / linear foot	\$17,100.00		Ú	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$10.00	2000 / linear foot	\$20,000.00		Ú	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Arroyos Concrete LLC	First Offer - \$10.00	2000 / linear foot	\$20,000.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$11.00	2000 / linear foot	\$22,000.00		Ú	
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11.45	2000 / linear foot	\$22,900.00		Ú	

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:

UPSR-0001-01-69 BASE BID: 813-00 REMOVE DRIVE	WAY					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Arroyos Concrete LLC	First Offer - \$10.00	1500 / square yard	\$15,000.00		Ú	
Product Code:		Supplier Product Code:		'		
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$11.00	1500 / square yard	\$16,500.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$13.40	1500 / square yard	\$20,100.00		Ð	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$15.26	1500 / square yard	\$22,890.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$25.00	1500 / square yard	\$37,500.00		Û	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPSR-0001-01-70 BASE BID: 818-04 PAVEMENT REPAIR	6" (HOT MIX ASPHALT)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$52.80	8000 / square yard	\$422,400.00		Ú
		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$53.50	8000 / square yard	\$428,000.00		Ú
		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$55.00	8000 / square yard	\$440,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$60.00	8000 / square yard	\$480,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$62.05	8000 / square yard	\$496,400.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		

UPSR-0001–01-71 BASE BID: 818-05 PAVEMENT REPAIR 9" (HOT MIX ASPHALT)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$69.01	12000 / square yard	\$828,120.00		J					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$70.00	12000 / square yard	\$840,000.00		Ð					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
EMC SERVICES LLC	First Offer - \$71.50	12000 / square yard	\$858,000.00		Ŋ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Arroyos Concrete LLC	First Offer - \$75.00	12000 / square yard	\$900,000.00		Ŋ					

Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$78.85	12000 / square yard	\$946,200.00	Ú
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

UPSR-0001-01-72 BASE BID: 819-10 STORM SEWER HOOD I	REPLACEMENT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC	First Offer - \$320.00	10 / each	\$3,200.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$321.00	10 / each	\$3,210.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$325.00	10 / each	\$3,250.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$350.00	10 / each	\$3,500.00		Ú)	
		Supplier Product Co Supplier Notes:	ode:			
Arroyos Concrete LLC	First Offer - \$350.00	10 / each	\$3,500.00		J	
		Supplier Product Co Supplier Notes:	ode:			

UPSR-0001-01-73 BASE BID: 819-20 STORM SEWER CAS	T GRATE REPLACEMEN	IT				
Supplier	Unit	Price Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$30	0.00 10 / each	\$3,000.00		Ú	
		Supplier Pr Supplier N	roduct Code: otes:			
Arroyos Concrete LLC	First Offer - \$30	0.00 10 / each	\$3,000.00		Ð	
		Supplier Pr Supplier N	roduct Code: otes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$30	0.00 10 / each	\$3,000.00		Ú	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$32		\$3,200.00		Ú	
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$32	1.00 10 / each	\$3,210.00		Ú	
		Supplier Pr Supplier N	roduct Code: otes:			

UPSR-0001-01-74 BASE BID: 819-21 STORM SEWER C	AST FR	AME REPLACEMENT				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC		First Offer - \$300.00	10 / each	\$3,000.00		J
		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC		First Offer - \$320.00	10 / each	\$3,200.00		Ú
		Supplier Product Co Supplier Notes:	ode:			
Silver Star Construction Company		First Offer - \$321.00	10 / each	\$3,210.00		Ú

		Supplier Product Co Supplier Notes:			
Rudy Construction Co.		First Offer - \$350.00	10 / each	\$3,500.00	Ú
		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$350.00	10 / each	\$3,500.00	Ð
Product Code: Agency Notes:	·		Supplier Product Co Supplier Notes:	ode:	·

UPSR-0001-01-75 BASE BID: 820-00 SAWCUT PAVEMENT	(LOOPS)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$5.40	500 / linear foot	\$2,700.00		J	
Product Code:	· ·	Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$12.10	500 / linear foot	\$6,050.00		J	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$20.00	500 / linear foot	\$10,000.00		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$20.00	500 / linear foot	\$10,000.00		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$23.00	500 / linear foot	\$11,500.00		Ú	
		Supplier Product Code: Supplier Notes:				

UPSR-0001-01-76 BASE BID: 820-01 MACHINE SAW CUT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$3.00	500 / linear foot	\$1,500.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$4.00	500 / linear foot	\$2,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company	First Offer - \$4.30	500 / linear foot	\$2,150.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving.	First Offer - \$6.00	500 / linear foot	\$3,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC	First Offer - \$12.10	500 / linear foot	\$6,050.00		Ú
Product Code: Agency Notes:	,	Supplier Product Code Supplier Notes:	:		

UPSR-0001–01-77 BASE BID: 822-01 GEO-COMPOSITE FABRIC MEMBRANE (2 FEET WIDE)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC		First Offer - \$3.00	2000 / linear foot	\$6,000.00		J			
Product Code:			Supplier Product Code	:					
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$3.75	2000 / linear foot	\$7,500.00		J			

		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$5.00	2000 / linear foot	\$10,000.00	U
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	·	
Arroyos Concrete LLC		First Offer - \$5.00	2000 / linear foot	\$10,000.00	Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	·	·
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.00	2000 / linear foot	\$10,000.00	Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	·	

UPSR-0001-01-78 BASE BID: 823-00 SIDEWALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$51.90	1000 / square yard	\$51,900.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$55.00	1000 / square yard	\$55,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$55.00	1000 / square yard	\$55,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$55.00	1000 / square yard	\$55,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$100.00	1000 / square yard	\$100,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPSR-0001-01-79 BASE BID: 823-03 6 INCH P.C. CONC. D	RIVEWAY (HES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$68.00	1500 / square yard	\$102,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$70.00	1500 / square yard	\$105,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$70.00	1500 / square yard	\$105,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving.	First Offer - \$87.00	1500 / square yard	\$130,500.00		Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$114.00	1500 / square yard	\$171,000.00		Ú
Product Code: Agency Notes:	'	Supplier Product Code: Supplier Notes:	'		

UPSR-0001–01-80 BASE BID: 824-01 COLORED CONCRETE (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$40.00	500 / square yard	\$20,000.00	J	Ð		

		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$40.00	500 / square yard	\$20,000.00	J
		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$55.00	500 / square yard	\$27,500.00	J
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$107.38	500 / square yard	\$53,690.00	J
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		'
Silver Star Construction Company		First Offer - \$150.00	500 / square yard	\$75,000.00	J
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		

UPSR-0001-01-81 BASE BID: 824-05 STAMPED CONCRET	E FINISH				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$30.00	500 / square yard	\$15,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	'	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$39.69	500 / square yard	\$19,845.00		Ŋ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$40.00	500 / square yard	\$20,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Arroyos Concrete LLC	First Offer - \$60.00	500 / square yard	\$30,000.00		Ŋ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company	First Offer - \$156.00	500 / square yard	\$78,000.00		Ŋ
Product Code: Agency Notes:	1	Supplier Product Code Supplier Notes:	:		

UPSR-0001-01-82 BASE BID: 826-08 PERFORATED PIPE UNI	DERDRAIN (SIX INCH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$20.00	100 / linear foot	\$2,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>		
Arroyos Concrete LLC	First Offer - \$20.00	100 / linear foot	\$2,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$23.68	100 / linear foot	\$2,368.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>		
Rudy Construction Co.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Ú)
Product Code: Agency Notes:	1	Supplier Product Code Supplier Notes:	<b>:</b> :		
Silver Star Construction Company	First Offer - \$35.00	100 / linear foot	\$3,500.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	): 	'	

## UPSR-0001-01-83 BASE BID: 826-09 NON-PERFORATED PIPE UNDERDRAIN (SIX INCH)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$20.00	100 / linear foot	\$2,000.00		Ú
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$20.00	100 / linear foot	\$2,000.00		J
Product Code:		Supplier Product Code	• •		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$23.74	100 / linear foot	\$2,374.00		J
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Ú
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$33.00	100 / linear foot	\$3,300.00		Ú
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			

UPSR-0001-01-84 BASE BID: 830-02 ADA CURB RAMP	(6 INCH THICK)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$90.00	200 / square yard	\$18,000.00		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$95.00	200 / square yard	\$19,000.00		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$100.00	200 / square yard	\$20,000.00		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$100.75	200 / square yard	\$20,150.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$125.00	200 / square yard	\$25,000.00		Ú	
Product Code:	1 1	Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPSR-0001-01-85 BASE BID: 830-03 ADA CURB RAMP	P (8 INCH	I THICK)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$100.00	200 / square yard	\$20,000.00		Ú
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$101.40	200 / square yard	\$20,280.00		Ú
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$105.00	200 / square yard	\$21,000.00		J
Product Code:			Supplier Product Code	•		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$105.00	200 / square yard	\$21,000.00		J
Product Code:			Supplier Product Code	•		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$150.00	200 / square yard	\$30,000.00		Ú
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			

UPSR-0001–01-86 BASE BID: 830-04 TACTILE MARKERS/TRUNCATED DOMES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Arroyos Concrete LLC	First Offer - \$30.00	200 / square foot	\$6,000.00		J			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
EMC SERVICES LLC	First Offer - \$35.00	200 / square foot	\$7,000.00		J			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		\$7,322.00					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$36.61	200 / square foot	\$7,322.00		J			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		0				
Silver Star Construction Company	First Offer - \$37.50	200 / square foot	\$7,500.00		J			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co.	First Offer - \$40.00	200 / square foot	\$8,000.00		J			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	'					

UPSR-0001-01-87 BASE BID: 840-00 SOLID SLAB SODDING	i				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$3.40	1000 / square yard	\$3,400.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$4.00	1000 / square yard	\$4,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$5.00	1000 / square yard	\$5,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$6.00	1000 / square yard	\$6,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.03	1000 / square yard	\$6,030.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

UPSR-0001–01-88 BASE BID: 843-16 TREE REMOVAL (OVER 3 INCHES TO 12 INCHES CALIPER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$696.30	1 / each	\$696.30		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Arroyos Concrete LLC	First Offer - \$800.00	1 / each	\$800.00		Ú			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
EMC SERVICES LLC	First Offer - \$1,000.00	1 / each	\$1,000.00		Ú			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Rudy Construction Co.	First Offer - \$1,200.00	1 / each	\$1,200.00		Ú			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·				

Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product C	ode:	
Silver Star Construction Company	First Offer - \$1,725.00	1 / each	\$1,725.00	J

UPSR-0001-01-89 BASE BID: 843-17 TREE REMOVAL (	OVER	12 INCHES CALIPER)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.		First Offer - \$1,500.00	1 / each	\$1,500.00		Ú		
Product Code:			Supplier Product (	Code:				
Agency Notes:			Supplier Notes:					
EMC SERVICES LLC		First Offer - \$1,500.00	1 / each	\$1,500.00		Ú		
Product Code:			Supplier Product (	Code:	\$1,500.00			
Agency Notes:			Supplier Notes:					
Arroyos Concrete LLC		First Offer - \$2,000.00	1 / each	\$2,000.00		Ŋ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:		-			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2,321.00	1 / each	\$2,321.00		Ŋ		
Product Code:			Supplier Product (	Code:	-			
Agency Notes:			Supplier Notes:					
Silver Star Construction Company		First Offer - \$2,680.00	1 / each	\$2,680.00		Ú		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

UPSR-0001-01-90 BASE BID: 900-04 TRIANGULAR SII	LT DIKE	S						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company		First Offer - \$5.35	100 / linear foot	\$535.00		Ú		
Product Code:	Product Code:			:				
Agency Notes:			Supplier Notes:					
EMC SERVICES LLC		First Offer - \$12.00	100 / linear foot	\$1,200.00		J		
			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$15.00	100 / linear foot	\$1,500.00		Ú		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Arroyos Concrete LLC		First Offer - \$18.00	100 / linear foot	\$1,800.00		J		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$21.80	100 / linear foot	\$2,180.00		J		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

UPSR-0001-01-91 BASE BID: 900-09 ROCK BAG SILT FENC	Ε					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$2.70	100 / linear foot	\$270.00		J
Product Code: Supplier Product Code:						
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$9.00	100 / linear foot	\$900.00		J
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$10.00	100 / linear foot	\$1,000.00		J
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			

Arroyos Concrete LLC	First Offer - \$10.00	100 / linear foot	\$1,000.00	l M
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12.85	100 / linear foot	\$1,285.00	
Product Code:		Supplier Product Code	e:	·
Agency Notes:		Supplier Notes:		

UPSR-0001-01-92 BASE BID: 981-04 RIPRAP (THICKNE	SS < 2	24 INCHES)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$60.00	200 / cubic yard	\$12,000.00		Ŋ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Arroyos Concrete LLC		First Offer - \$65.00	200 / cubic yard	\$13,000.00		Ú
			Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.		First Offer - \$75.00	200 / cubic yard	\$15,000.00		Ú
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$79.41	200 / cubic yard	\$15,882.00		Ð
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Silver Star Construction Company		First Offer - \$118.00	200 / cubic yard	\$23,600.00		Ð
		Supplier Product Code: Supplier Notes:				

UPSR-0001–01-93 BASE BID: 981-05 RIPRAP (THICKNESS > 24 INCHES)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC		First Offer - \$60.00	200 / cubic yard	\$12,000.00		J		
Product Code:			Supplier Product Code	e:				
Agency Notes:			Supplier Notes:					
Arroyos Concrete LLC		First Offer - \$65.00	200 / cubic yard	\$13,000.00		Ú		
Product Code:			Supplier Product Code	e:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$75.00	200 / cubic yard	\$15,000.00		J		
Product Code:			Supplier Product Code	e:	· · · · · ·			
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$79.41	200 / cubic yard	\$15,882.00		Ú		
Product Code:			Supplier Product Code	e:				
Agency Notes:			Supplier Notes:					
Silver Star Construction Company		First Offer - \$118.00	200 / cubic yard	\$23,600.00		Ú		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					

UPSR-0001–01-94 BASE BID: 982-00 PIPERAIL (GALVANIZED) (3 INCHES)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company		First Offer - \$113.00	75 / linear foot	\$8,475.00		Ú		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
EMC SERVICES LLC		First Offer - \$140.00	75 / linear foot	\$10,500.00		Ú		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					

Rudy Construction Co.		First Offer - \$150.00	75 / linear foot	\$11,250.00	l O		
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:			
Arroyos Concrete LLC		First Offer - \$150.00	75 / linear foot	\$11,250.00	- U		
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$193.88	75 / linear foot	\$14,541.00	l l		
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:	·		

UPSR-0001-01-95 BASE BID: 982-01 PEDESTRIAN GUARD	RA	IL (POWDER COATED S	TEEL OR GALVANIZEI	D) (1 1/2 INCHES)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC		First Offer - \$100.00	75 / linear foot	\$7,500.00		Ú
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$106.00	75 / linear foot	\$7,950.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$125.00	75 / linear foot	\$9,375.00		Ú
		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC		First Offer - \$140.00	75 / linear foot	\$10,500.00		Ú
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$169.40	75 / linear foot	\$12,705.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$1.30	1300 / square yard	\$1,690.00		Ú
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$3.00	1300 / square yard	\$3,900.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$3.00	1300 / square yard	\$3,900.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		'	
Arroyos Concrete LLC		First Offer - \$3.00	1300 / square yard	\$3,900.00		Ð
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$4.31	1300 / square yard	\$5,603.00		Ð
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

UPSR-0001–01-97 BASE BID: 988-02 TURF REINFORCEMENT MAT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$2.00	250 / square yard	\$500.00		Ú		
Product Code:	Supplier Product Code:						
		Supplier Notes:					

Rudy Construction Co.		First Offer - \$20.00	250 / square yard	\$5,000.00	U	
			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$20.00	250 / square yard	\$5,000.00	- U	
			Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$20.00	250 / square yard	\$5,000.00	Ú	
			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving.		First Offer - \$20.38	250 / square yard	\$5,095.00	- U	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

UPSR-0001-01-98 BASE BID: 988-03 TIED CONCRETE	BLOCK	MAT				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$55.00	250 / square yard	\$13,750.00		Ú
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$75.00	250 / square yard	\$18,750.00		Ú
			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$75.00	250 / square yard	\$18,750.00		J
			Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$75.00	250 / square yard	\$18,750.00		Ú
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$92.00	250 / square yard	\$23,000.00		Ú
		Supplier Product Code: Supplier Notes:				

UPSR-0001-01-99 BASE BID: 999-01 RAIL ROAD FLAGGER	(PER DAY)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$700.00	20 / day	\$14,000.00		Ð
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$1,200.00	20 / day	\$24,000.00		Ð
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$1,500.00	20 / day	\$30,000.00		Ð
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$1,750.00	20 / day	\$35,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:	Supplier Notes:				
Silver Star Construction Company	First Offer - \$1,982.00	20 / day	\$39,640.00		Ð
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPSR-0001-01-100 BASE BID: 986-01 PEDESTRIAN PAVING	BRICK			
Supplier	Unit Price Qty/Unit	Total Price	Attch.	Docs

Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$22.35	50 / each	\$1,117.50	0	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$30.00	50 / each	\$1,500.00	U	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.		First Offer - \$35.00	50 / each	\$1,750.00	U	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$50.00	50 / each	\$2,500.00	U	
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company		First Offer - \$61.50	50 / each	\$3,075.00	U	
			Supplier Product Co Supplier Notes:	de:	·	

UPSR-0001-01-101 BASE BID: 986-02 VEHICULAR PAV	ING BF	RICK				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$24.75	50 / each	\$1,237.50	Ú	Ú
Product Code:			Supplier Product C	Code:		
Agency Notes:			<b>Supplier Notes:</b> Bid uploaded under bid	d bond uploaded here, I bond upload link.	could not l	oe
Rudy Construction Co.		First Offer - \$50.00	50 / each	\$2,500.00		J
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$50.00	50 / each	\$2,500.00		J
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company		First Offer - \$71.00	50 / each	\$3,550.00		Ú
			Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$80.00	50 / each	\$4,000.00		Ú
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

## **Supplier Totals**

f Arroyos Concrete LLC \$4,190,280.00 (101/101 items)

Address **1233 SW 41st Bid Contact Emilio Arroyo** 

> Oklahoma city, OK 73109 earroyo@arroyosconcrete.com

Ph 405-887-4526

Qualifications **OKC PRE-QUALIFIED CONTRACTORS** 

**Supplier Notes: Head Attch: Agency Notes:** 

f EMC SERVICES LLC \$4,221,272.50 (101/101 items)

**Bid Contact Saul Elizondo** Address 1400 SW 56th ST

emcservicesllc16@gmail.com

Oklahoma City, OK 73119 Ph 405-605-8131

Qualifications **OKC PRE-QUALIFIED CONTRACTORS** 

725, 10:21 AM	J.Z.I AIVI Feliscope Sou	Source: Agency Reports		
Agency Notes	s:	Supplier Notes:	Head Attch: ∭	
f Rudy Const	truction Co.	\$4,358,450.00 (101/101 items	5)	
Bid Contact	Doug Walker	Address 3101 NE 63rd Street		
	kratliff@rudycc.com Ph 405-478-9900	Oklahoma City, OK 73121		
	Fax 405-478-9901			
Qualifications	OKC PRE-QUALIFIED CONTRACTORS			
Agency Notes	s:	Supplier Notes:	Head Attch:	
f Ellsworth C	Construction OKC dba A-Tech Paving	\$4,552,219.63 (101/101 it	ems)	
Bid Contact	Tim Lunday	Address 500 N Vickie DR		
	okcbids@ellsworthinc.com	Oklahoma City, OK 73117		
Qualifications	Ph 405-418-4741 OKC PRE-QUALIFIED CONTRACTORS			
Bid Notes	Bid bond uploaded to last line item, could not use bid bond u	pload link.		
Agency Notes	•	Supplier Notes: Bid bond uploaded to last line item, conot use bid bond upload link.	Head ould Attch:	
f <u>Silver Star</u>	Construction Company	\$5,213,181.50 (101/101 items	5)	
Bid Contact	Amber Harris	Address 2401 S Broadway		
	tim@silverstarconst.com	Moore, OK 73160		
Qualifications	Ph 405-793-1725  CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS			
Bid Bond				
Bid Notes	(Status: A bond with the supplied contract id was not found)  BID BOND ATTACHED TO LINE ITEM 1			
Agency Notes		Supplier Notes:	Head Attch:	
Agency Notes	<b>.</b>	BID BOND ATTACHED TO LINE ITEM 1		

Print

Close

<sup>\*\*</sup>All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

Periscope Source: Bid Tabulation Report
amittee Bid Tab THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

## Bid #25113 - Wireless Modems, Routers, Gateways

Creation Date Feb 6, 2025 **End Date** Mar 5, 2025 10:00:00 AM CST

Start Date Feb 12, 2025 7:44:02 AM CST Awarded Date Not Yet Awarded

Pacific East I	ndustries			\$0.00 (2	1/21 items)
Bid Contact	lisa showalter lisa@paceast.net Ph 805-480-3741	Address <b>4409 car</b> <b>newbur</b>	mino de las e y park, CA 9°		
Supplier Code					
Bid Notes	Due to the numero	us price lists and catalogs, please contact Lisa Showalter at 8 or immediate and best pricing.	388.490.9749	or	
Agency Notes			Supplier Not price lists and Lisa Showalte Lisa@paceass best pricing.	d catalogs, pl er at 888.490	ease contact 9749 or
Item #	Line Item		Unit Price	Qty/Unit	<b>Total Price</b>
25113–01-01	Ma	anufacturer 1: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:			Supplier Pro Supplier Not Pacific East bi products	es:	ó on all
25113–01-02	Ma	anufacturer 1: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:			Supplier Pro Supplier Not +12% on all p	<b>:es:</b> Pacific Ea	est bids cost
				Lot	<b>Total:</b> \$0.00
Item#	Line Item		Unit Price	Qty/Unit	Total Price
25113–02-01		anufacturer 2: Discount from website, catalogs or price lists - First Offer		1 / each	12.00%
Product Code: Agency Notes:			Supplier Pro Supplier Not +12% on all p	<b>:es:</b> Pacific Ea	st bids cost
25113-02-02	Ma	anufacturer 2: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:			Supplier Pro Supplier Not Pacific East bi products	es:	ó on all
			1.	Lot	<b>Total:</b> \$0.00
Item#	Line Item		Unit Price	Qty/Unit	Total Price
25113-03-01	Ma	anufacturer 3: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:			Supplier Pro Supplier Not +12% on all p	<b>:es:</b> Pacific Ea	est bids cost
25113-03-02	Ma	anufacturer 3: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes			Supplier Pro Supplier Not Pacific East bi	es:	6
			I acilic East b	143 6036 1 127	U

Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–04-01	Manufacturer 4: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier Not Pacific East bi	es:	ó
25113-04-02	Manufacturer 4: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier Not Pacific East b	t <b>es:</b> ids cost +12%	
		I		Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25113–05-01 Product Code: Agency Notes:		12.00%  Supplier Pro Supplier Not Pacific East bi	es:	12.00%
		T	Lot	<b>Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–06-01 Product Code: Agency Notes:		12.00%  Supplier Pro Supplier Not Pacific East bi	es:	12.00%
			Lot	<b>Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25113–07-01	FAR Prices for Manufacturer 1: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Pacific East bids cost +12%		ó
25113-07-02	FAR Prices for Manufacturer 1: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier Not Pacific East bi	es:	ó
		l		<b>Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–08-01	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier Not +12%		st bids cost
25113-08-02	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier Not Pacific East b	es:	ó
			Lot	<b>Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–09-01	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier Not Pacific East bi	es:	ó
25113–09-02	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier Not Pacific East b	es:	<b>6</b>
			Lot	<b>Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–10-01	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%

/25, 10:13 AM	Periscope Source: Big Tabulation Report				
Product Code: Agency Notes		Supplier Not	Supplier Product Code: Supplier Notes: Pacific East bids cost +12%		
25113–10-02	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes: Pacific East bids co +12%		ast bids cost	
			Lot	<b>Total:</b> \$0.00	
ltem#	Line Item	Unit Price	Qty/Unit	Total Price	
25113–11-01	FAR Prices for Management Software: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%	
Product Code: Agency Notes		Supplier Pro Supplier Not +12%		ast bids cost	
			Lot	<b>Total:</b> \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25113–12-01	FAR Prices For Related Services: Discount from website, catalogs or price lists - First Offer	12.00%	1 / each	12.00%	
Product Code: Agency Notes		Supplier Pro Supplier Not Pacific East bi	tes:	6	
			Lot	<b>Total:</b> \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25113–13-01	Attachments: W-9 - First Offer		1 / each		
Product Code: Agency Notes		Supplier Pro Supplier Not			
			Lot	Total: \$0.00	

AT&T				\$0.00 (1/21 items)	
Bid Contact	Joshua Davis j <u>d918v@att.com</u> Ph 918-231-9376	Address <b>509 S Detroit Ave Tulsa, OK 74120</b>			
Qualification	S CS ARCH ENG				
Bid Notes	Please see attached RFP response from AT&T.				
<b>Agency Notes</b>	:	Supplier Notes: Please see	e attached RFF	response from AT&T.	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
25113–01-01	Manufacturer 1: Discount from website, catalogs or price lists			No Bids	
Agency Notes	:	Supplier Product Code: Supplier Notes:			
25113–01-02	Manufacturer 1: Discount from website, catalogs or price lists		No Bid		
Agency Notes:		Supplier Product Code: Supplier Notes:			
				<b>Lot Total:</b> \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25113–02-01	Manufacturer 2: Discount from website, catalogs or price lists			No Bids	
Agency Notes	:	Supplier Product Code: Supplier Notes:			
25113–02-02	Manufacturer 2: Discount from website, catalogs or price lists			No Bids	
Agency Notes	:	Supplier Product Code: Supplier Notes:			
				<b>Lot Total:</b> \$0.00	

		Supplier Notes:		<b>Lot Total:</b> \$0.00	
Agency Notes	catalogs or price lists	Supplier Product Code:	INO DIO		
<b>Agency Note</b> 25113–08-02		Supplier Product Code: Supplier Notes:		No Bids	
25113–08-01	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists			No Bids	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
Itom #	Ling Hom	Hate Buts	Ob./Ilmia	Lot Total: \$0.00	
Agency Note	s.	Supplier Product Code: Supplier Notes:			
25113-07-02	catalogs or price lists	Sumplier Braduct Code:		INO BIOS	
	1	Supplier Notes:		No Bids	
Agency Notes	catalogs or price lists	Supplier Product Code:			
<b>Item #</b> 25113–07-01	Line Item  FAR Prices for Manufacturer 1: Discount from website,	Unit Price	Qty/Unit	Total Price No Bids	
			-	Lot Total: \$0.00	
Agency Note	s:	Supplier Product Code: Supplier Notes:			
25113–06-01	Related Services: Discount from website, catalogs or price lists			No Bids	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
		Supplier Notes:		<b>Lot Total:</b> \$0.00	
Agency Note	<u> </u>	Supplier Product Code:			
25113–05-01	Management Software: Discount from website, catalogs or price lists			No Bids	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
		Supplier Notes:		<b>Lot Total:</b> \$0.00	
Agency Notes	lists s:	Supplier Product Code:			
25113–04-02	1	Supplier Notes:		No Bids	
Agency Notes	lists	Supplier Product Code:			
25113–04-01	Line Item  Manufacturer 4: Discount from website, catalogs or price	Unit Price	Qty/Unit	Total Price No Bids	
	1		0	Lot Total: \$0.00	
Agency Note	s:	Supplier Product Code: Supplier Notes:			
25113–03-02	Manufacturer 3: Discount from website, catalogs or price lists			No Bids	
Agency Note	S:	Supplier Product Code: Supplier Notes:			
25113–03-01	Manufacturer 3: Discount from website, catalogs or price lists			No Bids	
ltem#	Line Item	Unit Price	Qty/Unit	Total Price	

5/25, 10:13 AM	Periscop	oe Source: Bid Tabulation Re	port		
25113–09-01	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists			No Bids	
Agency Notes	: :	Supplier Product Code: Supplier Notes:			
25113–09-02	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists			No Bids	
Agency Notes	:	Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25113–10-01	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists		·	No Bids	
Agency Notes	:	Supplier Product Code: Supplier Notes:			
25113–10-02	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25113–11-01	FAR Prices for Management Software: Discount from website, catalogs or price lists			No Bids	
Agency Notes	:	Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25113–12-01	FAR Prices For Related Services: Discount from website, catalogs or price lists			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
				<b>Lot Total:</b> \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25113–13-01	Attachments: W-9 - First Offer	-	1 / each		
Product Code Agency Notes		Supplier Product Code: Supplier Notes: Please see	e attached resp	onse from AT&T	
				<b>Lot Total:</b> \$0.00	

tkm20042			\$0.00	0 (9/21 items)
Bid Contact  Norman Ruud  norman@turnkeymobile.com Ph 573-893-9888  Qualifications  Output  Address 4510 Country Club Drive Jefferson City, MO 65109  Solution Soluti				
Agency Notes	:	Supplier Notes	:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–01-01	Manufacturer 1: Discount from website, catalogs or price lists - First Offer	11.00%	1 / each	11.00%
Product Code: Agency Notes		Supplier Produ Supplier Notes products 11% of	: Cradlepoint	/Ericsson

Agency Notes:		Supplier Produ Supplier Notes		
25113-05-01	Management Software: Discount from website, catalogs or price lists			No Bids
Item#	Line Item	Unit Price	Qty/Unit	Total Price
- <del>-</del>		Supplier Notes		<b>Lot Total:</b> \$0.00
Agency Notes:		Supplier Produ	ct Code:	140 DIOS
25113–04-02	Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Product Code: Agency Notes:		Supplier Produ Supplier Notes: MSRP		ntennas 11% ofl
25113–04-01	Manufacturer 4: Discount from website, catalogs or price lists - First Offer		1 / each	11.00%
Item#	Line Item	Unit Price	Qty/Unit	Total Price
		Supplier Notes		<b>Lot Total:</b> \$0.00
Agency Notes:		Supplier Produ		
25113–03-02	Manufacturer 3: Discount from website, catalogs or price lists			No Bids
25113–03-01 Product Code: Agency Notes:		Unit Price 11.00% Supplier Produ Supplier Notes: MSRP		11.00% 11.00% nnas 11% of
Itare #	Ling Manus	Lluit Drice		Lot Total: \$0.00
Agency Notes:		Supplier Produ Supplier Notes	:	
25113-02-02	Manufacturer 2: Discount from website, catalogs or price lists	Committee Durado	-4 C1	No Bids
		off MSRP		
Product Code: Agency Notes:		Supplier Produ Supplier Notes	ct Code:	
<b>Item #</b> 25113–02-01	Line Item  Manufacturer 2: Discount from website, catalogs or price lists - First Offer	Unit Price	<b>Qty/Unit</b> 1 / each	Total Prio
				Lot Total: \$0.00
Agency Notes:		Supplier Notes:		
		- " - "		No Bids
25113–01-02 Agency Notes:	Manufacturer 1: Discount from website, catalogs or price lists	Supplier Produ Supplier Notes		No

ltem#	Line Item	Unit Price	Qty/Unit	Total Price
25113–06-01	Related Services: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Produ Supplier Notes		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–07-01	FAR Prices for Manufacturer 1: Discount from website, catalogs or price lists - First Offer	11.00%	1 / each	11.00%
Product Code Agency Notes		Supplier Product Code: Supplier Notes: Cradlepoint/Ericsson products 11% off MSRP		Ericsson
25113–07-02	FAR Prices for Manufacturer 1: Discount from website, catalogs or price lists			No Bids
Agency Notes		Supplier Produ	ct Code	140 Blas
Agency Hotes	•	Supplier Notes		
				<b>Lot Total:</b> \$0.00
ltem#	Line Item	Unit Price	Qty/Unit	Total Price
25113-08-01	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists - First Offer	11.00%	1 / each	11.00%
Product Code Agency Notes		Supplier Produ Supplier Notes off MSRP		ess products 11%
25113–08-02	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Produ Supplier Notes		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25113-09-01	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists - First Offer	11.00%	1 / each	11.00%
Product Code Agency Notes		Supplier Produ Supplier Notes MSRP		nnas 11% off
25113–09-02	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists			No Bids
Agency Notes		Supplier Produ Supplier Notes		
				<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–10-01	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists - First Offer	11.00%	1 / each	11.00%
Product Code Agency Notes		Supplier Produ Supplier Notes MSRP		ntennas 11% off
25113–10-02	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Agency Notes		Supplier Produ Supplier Notes		
				<b>Lot Total:</b> \$0.00
ltem#	Line Item	Unit Price	Qty/Unit	Total Price
25113–11-01	FAR Prices for Management Software: Discount from website, catalogs or price lists			No Bids
Agency Notes	<b>:</b>	Supplier Produ Supplier Notes		
				<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price

25113–12-01	FAR Prices For Related Services: Discount from website, catalogs or price lists			No Bids
Agency Notes		Supplier Produ Supplier Notes		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25113–13-01	Attachments: W-9 - First Offer		1 / each	
		Supplier Produ Supplier Notes		
				Lot Total: \$0.00

roduct Code: Supplier Product Code: Supplier Notes: Supplier Notes:				
-				<b>Lot Total:</b> \$0.00
Total Wireles	ss Data		\$0.00	(7/21 items)
Bid Contact	Allen D Goodman Address 33	300 S Lakeside KLAHOMA CIT	Drive	(7/21 (cms)
Qualifications				
Agency Notes:		Supplier Notes	:	
	Line Item	Unit Price	Qty/Unit	Total Price
25113–01-01	Manufacturer 1: Discount from website, catalogs or price lists - First Offer	22.00%	1 / each	22.00%
Product Code: Agency Notes:		Supplier Produ Gateways Supplier Notes Gateways Tab 1	: Semtech Rou	uters and
25113–01-02	Manufacturer 1: Discount from website, catalogs or price lists - First Offer	5.00%	1 / each	5.00%
Agency Notes:		<b>Supplier Notes</b> 5% off MSRP list		essories Tab 2 -
				<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–02-01	Manufacturer 2: Discount from website, catalogs or price lists - First Offer	5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Produ and Services Supplier Notes and Services Tal	: Semtech Sof	
25113–02-02	Manufacturer 2: Discount from website, catalogs or price lists			No Bids

Agency Notes	:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113-03-01	Manufacturer 3: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Produ Supplier Notes		
25113-03-02	Manufacturer 3: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Produ Supplier Notes		
				<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113-04-01	Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Produ Supplier Notes		
25113-04-02	Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113-05-01	Management Software: Discount from website, catalogs or price lists		'	No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–06-01	Related Services: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–07-01	FAR Prices for Manufacturer 1: Discount from website, catalogs or price lists - First Offer	22.00%	1 / each	22.00%
Product Code Agency Notes		Supplier Produ Supplier Notes Pricing		
25113-07-02	FAR Prices for Manufacturer 1: Discount from website, catalogs or price lists - First Offer	5.00%	1 / each	5.00%
Product Code Agency Notes		Supplier Produ Supplier Notes Pricing		
		1		Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113-08-01	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists - First Offer	5.00%	1 / each	5.00%
Product Code Agency Notes	:	Supplier Product Code: Software Support & Services Supplier Notes: Please See Semtech/Sierra Pricing		
25113–08-02	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists			No Bids
Agency Notes		Supplier Produ Supplier Notes		
		<u> </u>		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price

/25, 10:13 AIVI	Periscope Source: Bid Tabulation R	eport		
Agency Notes	:	Supplier Produ Supplier Notes		
25113-09-02	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists			No Bids
Agency Notes		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
ltem#	Line Item	Unit Price	Qty/Unit	Total Price
25113–10-01	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
25113–10-02	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists	No		No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–11-01	FAR Prices for Management Software: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Produ Supplier Notes		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–12-01	FAR Prices For Related Services: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Produ Supplier Notes		
				Lot Total: \$0.00
ltem#	Line Item	Unit Price	Qty/Unit	Total Price
25113–13-01	Attachments: W-9 - First Offer		1 / each	
Product Code Agency Notes		Supplier Produ Inc. W-9 Supplier Notes		Wireless Data,
				Lot Total: \$0.00

BAYCOM				\$0.00 (1/21 i	items
<u>t</u>	om Schmied <u>schmied@baycominc.com</u> Ph 737-231-1836	Address <b>2040 Radisson Street Green Bay, WI 54302</b>			
Agency Notes		Supplier Notes:			
Item#	Line Item	Unit Price	Qty/Unit	Tota	al Price
25113–01-01	Manufacturer 1: Discount from website, catalogs or price lists - First Offer	40.00%	1 / each	4	10.00%
		products, discounts a			

Item#	Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes	:	Supplier Product Co Supplier Notes:	de:	<b>Lot Total:</b> \$0.00
25113–07-02	FAR Prices for Manufacturer 1: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Co Supplier Notes:	de:	
25113–07-01	FAR Prices for Manufacturer 1: Discount from website, catalogs or price lists			No Bids
Item #	Line Item	Unit Price	Qty/Unit	Total Price
Itara #	Linateons	Hatt B.C.	Om (#11*)	Lot Total: \$0.00
		Supplier Notes:		Lat Tatali do oc
Agency Notes		Supplier Product Co	de:	
25113–06-01	Related Services: Discount from website, catalogs or price lists	1 1311135		No Bids
Item#	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00
Agency Notes	:	Supplier Product Coc Supplier Notes:	de: 	Lat Tatali do oc
25113-05-01	Management Software: Discount from website, catalogs or price lists	  - •		No Bids
Item #	Line Item	Unit Price	Qty/Unit	Total Price
				<b>Lot Total:</b> \$0.00
Agency Notes	:	Supplier Product Code: Supplier Notes:		
25113–04-02	Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Co Supplier Notes:	de:	
25113–04-01	Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Item#	Line Item	Unit Price	Qty/Unit	Total Price
				<b>Lot Total:</b> \$0.00
Agency Notes	:	Supplier Product Code: Supplier Notes:		
25113-03-02	Manufacturer 3: Discount from website, catalogs or price lists			No Bids
		Supplier Notes:		
Agency Notes		Supplier Product Code:		
25113–03-01	Manufacturer 3: Discount from website, catalogs or price lists	Onerrice	Qty/onit	No Bids
Item #	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00
Agency Notes	:	Supplier Product Co Supplier Notes:	de:	
25113-02-02	Manufacturer 2: Discount from website, catalogs or price lists			No Bids
Agency Notes		Supplier Product Co Supplier Notes:	de:	
25113–02-01	Manufacturer 2: Discount from website, catalogs or price lists		-	No Bids
Item#	Line Item	Unit Price	Qty/Unit	Total Price
				Lot Total: \$0.00
rigency rivide	•	Supplier Notes:		
Agency Notes		Supplier Product Co	 	INO BIUS
25113-01-02	Manufacturer 1: Discount from website, catalogs or price lists			No Bids

25113–08-01	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Coo Supplier Notes:	de:	
25113–08-02	FAR Prices for Manufacturer 2: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Cod Supplier Notes:	de:	
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25113–09-01	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Coo Supplier Notes:	de:	
25113–09-02	FAR Prices for Manufacturer 3: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–10-01	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
25113–10-02	FAR Prices for Manufacturer 4: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Coo Supplier Notes:	de:	
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25113–11-01	FAR Prices for Management Software: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Cod Supplier Notes:	de:	
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25113–12-01	FAR Prices For Related Services: Discount from website, catalogs or price lists			No Bids
Agency Notes	:	Supplier Product Coo Supplier Notes:	de:	
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25113–13-01	Attachments: W-9			No Bids
Agency Notes	:	Supplier Product Coo Supplier Notes:	de:	
				<b>Lot Total:</b> \$0.00

Tresha Williams	<u>Chad Harrison</u>	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET Periscope Source: Bid Tabulation Report IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M.

## Bid #25717 - VETERINARY DRUGS, SUPPLIES, AND RELATED MEDICAL EQUIPMENT

Creation Date Jan 31, 2025 **End Date** Mar 5, 2025 10:00:00 AM CST

Start Date Feb 12, 2025 7:44:02 AM CST Awarded Date Not Yet Awarded

North Amer	ican Rescue Medical Depot			\$0.00	(50/50 items)
Bid Contact	Kelli Turner <u>kturner@narmd.com</u> Ph 864-675-9800	Address <b>54 Tedwall</b> <b>Greer, SC 2</b>			
Qualifications	S CS ARCH ENG				
Agency Notes		Supplier Notes:			
Item #	Line Item	Unit Price	Qty/Unit		Total Price
25717–01-01	Delivery: Stock - First Offer		1 / day		
Product Code: Agency Notes		Supplier Product Co Supplier Notes:	ode:		
25717–01-02	Delivery: Non-Stock - First Offer		1 / day		
Agency Notes		Supplier Notes: BID HAVE A 45 DAY LEAD THE NOTES FOR THE	TIME. THIS	WAS ALS	
		I			<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit		Total Price
25717–02-01	Freight Charges: Freight Charges - First Offer		1 / each		
Agency Notes		Supplier Product Co Supplier Notes: CO \$120.		IDDED I	TEMS WILL BE
		I	I		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit		Total Price
Product Code:		Supplier Product Co	1 / each ode:		20.00%
<b>Agency Notes</b> 25717–03-02	Discount: Discount from Website Pricing - First Offer	Supplier Notes: 20.00%	1 / each	Τ	20.00%
Product Code: Agency Notes		Supplier Product Co Supplier Notes:			20.0070
7.855, 1.0.00	<u>'</u>	рагрия населения			
	Line Item	Unit Price	Qty/Unit		Total Price
ltem #		0.000/		1	
25717–04-01	Veterinary Drugs and Supplies: DAPP - First Offer	0.00%	1 / each		0.00%
		Supplier Product Co Supplier Notes: 100 OLDER."	ode:	.43, 25/F	

25717–04-02	Veterinary Drugs and Supplies: Intra-Trac 3 - First Offer	0.00% 1	/ each	0.00%
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 065313 OLDER, REFRIGERATED I	3, 25/PK, \$2	96.79, AGES 3WKS OR
25717–04-03	Veterinary Drugs and Supplies: FVRCP - First Offer	0.00% 1	/ each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: AV4275 16WKS, REFRIGERATED		/PK, \$175.38, AGES 12-
25717–04-04	Veterinary Drugs and Supplies: Rabies- 1 year - First Offer	0.00% 1	/ each	0.00%
Product Code: Agency Notes:	recentled of the Supplies nubles if year in stories	Supplier Product Code: Supplier Notes: AV6876	:	

79/25, 10.14 AM Periscope Source. Bid Tabulation Report				
		MONTHS OR OLDER	, refrigerat	ED
25717–04-05	Veterinary Drugs and Supplies: Heartworm prevention - First Offer	0.00%	1 / each	0.00%
Product Code:	veterinary brugs and supplies. Heartworm prevention - riist Offer	Supplier Product Co		0.00%
Agency Notes:		<b>Supplier Notes:</b> 000 WEIGHT OF 2-8LBS, 00061535501 5/PK \$ 25LBS	61535401 5/f 216.54, FOR I 263.99, FOR I	PK \$209.80, FOR DOG DOG WEIGHT OF 8.1- DOG WEIGHT OF 25.1- DOG WEIGHT 50.1-
25717–04-06	Veterinary Drugs and Supplies: Flea/tick prevention- canine - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		DOSES 142832, EACH \$768.8 DOSES	828, EACH \$7 DSES 41, FOR DOG 38, FOR DOG	736.40, FOR DOG WEIGHT 10.1-24LB, 3 WEIGHT 24.1-60LB, 3 EIGHT 60.1-124, 3 DOSES
25717–04-07	Veterinary Drugs and Supplies: Flea/tick prevention- feline - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co	71041101, 3/ .B, PROTECTS (S, EAR MITES	PK \$58.59, FOR CATS CATS/KITTENS , ROUNDWORMS,
			TS/KITTENS A VORMS, HOO	
			S/KITTENS A	ATS THAT WEIGH 11.1- GAINST FLEAS, TICKS, DKWORMS AND

725, 10.14 AW	Periscope Source. Bid i	HEARTWORMS, GRO	OUND TRANSF	PORT ONLY	
25717–04-08	Veterinary Drugs and Supplies: Sterile surgical gloves - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 2D7 5.5, LATEX FREE, NO SHOULD FIT A FEMA	72PT55X, 200. SIZE SPECIFIE	/CS \$483.25, GLOVE SIZE ED, QUOTE SIZE	
		2D72PT90X, 200/CS S GLOVE SIZE WOULD		VE SIZE 9, LATEX FREE, RED AS A MEDIUM	
25717–04-09	Veterinary Drugs and Supplies: 2-O absorbable suture - First Offer	0.00%	1 / each	0.00%	
Product Code:	,	Supplier Product Code:			
Agency Notes:		Supplier Notes: G26		,	
25717–04-10	Veterinary Drugs and Supplies: 3-O absorbable suture - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Z49 ITEM 45 DAY LEAD TI	7G, 12/PK \$3	90.50, 18", NON-STOCK	
25717–04-11	Veterinary Drugs and Supplies: O absorbable suture - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: WE IT IS NOT MADE IN T	DID NOT BID	O THIS ITEM. IT LOKS LIKE ED SIZE "O".	
25717–04-12	Veterinary Drugs and Supplies: Surgical blade-10 - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 4-1		.58	
25717–04-13	Veterinary Drugs and Supplies: Surgical blade- 15 - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 4-1		.80	
25717–04-14 Vet	erinary Drugs and Supplies: Non-sterile 4x4 nonwoven gauze - First Offer	0.00%	1 / each	0.00%	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 3364, 50/PK, \$1.55			
25717–04-15	Veterinary Drugs and Supplies: Parvovirus test - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:	7 .0	Supplier Product Co	ode:	5.69, NON-STOCK ITEM	
25717–04-16	Veterinary Drugs and Supplies: Heartworm test - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 001		59	
25717–04-17 <b>Product Code:</b>	Veterinary Drugs and Supplies: Doxycycline - First Offer	0.00% Supplier Product Co	1 / each	0.00%	
		PHARMACEUTICAL L	ICENSE TO PU	JRCHASE.	
25717–04-18	Veterinary Drugs and Supplies: Pyrantel - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 210 INFORMATION WAS THAT WE THOUGHT ATTACHMENT.	)13, BOTTLE \$ LIMITED, SO \	WE BIDED AN ITEM	
25717–04-19	Veterinary Drugs and Supplies: Fendendazole - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 004		66.50	
25717–04-20	Veterinary Drugs and Supplies: Praziquntel/ Epsiprantel - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:	. 2.2	Supplier Product Co Supplier Notes: 100 \$362.73, 25 MG, REM PUPPIES AND ADULT PHARMACEUTICAL L ATTACHMENT	D <b>ode:</b> 000490 (EPSIP MOVES TAPEW T DOGS/CATS,	RANTEL), 50/EA /ORMS IN KITTENS, MUST HAVE	

, 20, 10.14 AW	i chacope dource. Bid i	abdiation (Cport		
		8610102150 (PRAZIO TAPEWORM REMOV PHARMACEUTICAL L ATTACHMENT	AL FOR DOGS	S/CATS. MUST HAVE
25717–04-21	Veterinary Drugs and Supplies: Ponazuril - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:	, seemany program a supplied in section.	Supplier Product Co Supplier Notes: 000 ATTACHMENT.		
25717–04-22	Veterinary Drugs and Supplies: Azithromcyin tablets - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 428 TIME, 100MG/5ML. N LICENSE TO PURCH/ 59651000830, 30/EA	ode: 806014731, 1! MUST HAVE P ASE \$6.12, 200M	5/EA \$7.59, 45 DAY LEAD HARMACEUTICAL
25717–04-23	Veterinary Drugs and Supplies: Amoxicillin tablets - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		TAB. MUST HAVE PH PURCHASE  54771604303, 500/E PHARMACEUTICAL L  54771800707, 500/E PHARMACEUTICAL L  54771604404, 500/E PHARMACEUTICAL L	771604202, 50 IARMACEUTIC IA \$215.42, 10 ICENSE TO PI ICENSE TO PI IA \$362.03, 20 ICENSE TO PI	DOMG TAB. MUST HAVE URCHASE  O MG TAB. MUST HAVE URCHASE.  OMG TAB. MUST HAVE URCHASE.
25717–04-24	Veterinary Drugs and Supplies: Microchips - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: T-S	ode:	\$540
25717–04-25	Veterinary Drugs and Supplies: Ketamine - First Offer	0.00%	1 / each	0.00%

Product Code: Agency Notes:		Supplier Product Co Supplier Notes: WE BEING A CLASS 3 DR	DID NOT BID	THIS DUE TO THIS ITEM
25717–04-26	Veterinary Drugs and Supplies: Tiltetamine/zolazepam - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: WE BEING A CLASS 3 DR	DID NOT BID	THIS DUE TO THIS ITEN
25717–04-27 Product Code:	Veterinary Drugs and Supplies: Butorphanol - First Offer	0.00% Supplier Product Co	1 / each	0.00%
Agency Notes:			DID NOT BID	THIS DUE TO THIS ITEN
25717–04-28	Veterinary Drugs and Supplies: Xylazine - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 1XY PHARMACEUTICAL L	L006, EA \$30.	
25717–04-29	Veterinary Drugs and Supplies: Euthasol - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: WE BEING A CLASS 3 DR	DID NOT BID	THIS DUE TO THIS ITEM
25717–04-30	Veterinary Drugs and Supplies: Isoflurane - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 460 GROUND TRANSPOR PHARMACEUTICAL L	66011503, EA RT ONLY. MUS ICENSE TO PU 9.18, 250 ML,	ST HAVE JRCHASE. GROUND TRANSPORT
25717–04-31	Veterinary Drugs and Supplies: 1 mL syringes - First Offer	+	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 309		

25717–04-32	Veterinary Drugs and Supplies: 3 mL syringes with 22g needles - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 900		K \$19.43
25717–04-33	Veterinary Drugs and Supplies: 3 mL syringes - First Offer	0.00%	1 / each	0.00%
Product Code:	veterinary brugs and supplies. 3 mile syringes - mist offer	Supplier Product Co		0.0070
Agency Notes:		Supplier Notes: 309		\$24.50
25717–04-34	Veterinary Drugs and Supplies: 20 gauge needles - First Offer	0.00%	1 / each	0.00%
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes: 212	.95179, 100/F	PK \$10.29, LIGHT PINK
25717–04-35	Veterinary Drugs and Supplies: 22 gauge needles - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 212		PK \$10.30, BLUE
25717–04-36	Veterinary Drugs and Supplies: 25 gauge needles - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 212		PK \$10.29, PINK
25717–04-37	Veterinary Drugs and Supplies: 5 mL syringes - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 309		\$21.18
25717–04-38	Veterinary Drugs and Supplies: 10 mL syringes - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 301 45 DAY LEAD TIME.		\$177, NON-STOCK ITEM
25717–04-39	Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 023		H \$34.80, 5/ 64".
25717–04-40	Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 023		H \$34.80, 3/128"
25717–04-41	Veterinary Drugs and Supplies: Puppy milk replacer - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Co	ode:	98.68, NON-STOCK ITEM

				Lot Total: \$0.00
Product Code Agency Notes		Supplier Product Co Supplier Notes: SEE		Γ
25717–05-01	W-9: W-9 - First Offer		1 / each	
Item#	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00 Total Price
Product Code Agency Notes		Supplier Product Co Supplier Notes: 144		
25717–04-44	Veterinary Drugs and Supplies: Immiticide - First Offer	0.00%	1 / each	0.00%
Product Code Agency Notes		Supplier Product Co Supplier Notes: 547		PK \$370.26
25717–04-43	Veterinary Drugs and Supplies: Diroban - First Offer	0.00%	1 / each	0.00%
Product Code Agency Notes		Supplier Product Code: Supplier Notes: 99511, EACH \$20.73		
25717–04-42	Veterinary Drugs and Supplies: Kitten milk replacer - First Offer	0.00%	1 / each	0.00%
25717–04-42	Veterinary Drugs and Supplies: Kitten milk replacer - First Offer	0.00%	1 / each	0.00
		I		

Intervet, In	c. dba Merck Animal Health			\$0.00	(12/50 items)
<u> </u>	Lisa Allgood <u>lisa.allgood@merck.com</u> Ph 801-750-8103	Address 10488 So. 136th St. Omaha, NE 68138			
	Please see attached price sheet on first page labeled " OKC 20 catalog price.	25 Direct price". l at	tached it to	the disco	ount on
Agency Notes	s:	<b>Supplier Notes:</b> Please see attached price sheet on first labeled " OKC 2025 Direct price". I attached it to the discon catalog price.			, ,
ltem#	Line Item	Unit Price	Qty/Unit		Total Price
25717-01-01	Delivery: Stock - First Offer		1 / day		
Product Code Agency Notes		Supplier Product Code: Supplier Notes: Delivery is 3-5 business days.			
25717–01-02	Delivery: Non-Stock - First Offer		1 / day		
Product Code Agency Notes		Supplier Product Cod Supplier Notes:	e:		
					<b>Lot Total:</b> \$0.00
ltem#	Line Item	Unit Price	Qty/Unit		Total Price
25717–02-01	Freight Charges: Freight Charges - First Offer		1 / each		
Product Code Agency Notes		Supplier Product Cod Supplier Notes:	e:		
					<b>Lot Total:</b> \$0.00
ltem#	Line Item	Unit Price	Qty/Unit		Total Price
25717-03-01	Discount: Discount from Catalog or Price List - First Offer	60.00%	1 / each		60.00%

Agency Notes:    Supplier Notes: 60% discount off ver retail price for Note/out code: No Bids	6/25, 10:14 AM	Periscope Source:	Bid Tabulation Report		
Supplier Product Code:   Supplier Notes:   Sup	Product Code: Agency Notes:		Supplier Notes: 60% o		et retail price for Nobivac
Agency Notes:    Supplier Product Code: Suppl	25717–03-02	Discount: Discount from Website Pricing			No Bids
Ikem ##         Unit Item         Unit Price         Qty/Unit         Total Price           25717-04-01         Veterinary Drugs and Supplies: DAPP - First Offer         60.00%         1 / each         60.00%           Product Code: Agency Notes:         Supplier Product Code: P63238         Supplier Product Code: P63238         Supplier Product Code: P63238         Supplier Product Code: P63236           Agency Notes:         Supplier Product Code: D65236         Supplier Product Code: P63236         Supplier Product Code: P63236           Agency Notes:         Veterinary Drugs and Supplies: PVRCP - First Offer         60.00%         1 / each         60.00%           25717-04-03         Veterinary Drugs and Supplies: PVRCP - First Offer         60.00%         1 / each         60.00%           Product Code: Agency Notes:         Supplier Product Code: Agency Notes: Note: Trace 1 is a stream of the product Code: Agency Notes: Agency Notes: Politic 1 is a stream of the product Code: Agency Notes: Politic 1 is a stream of the product Code: Agency Notes: Politic 1 is a stream of the product Code: Agency Notes: Politic 1 is a stream of the product Code: Agency Notes: Politic 1 is a stream of the product Code: Agency Notes: Politic 1 is a stream of the product Code: Agency Notes: Supplier Notes: Please see attached price sheet Ladded on the catalog discount list.         1 / each         60.00%	Agency Notes			e:	
25717-04-01 Veterinary Drugs and Supplies: DAPP - First Offer 60.00% 1 / each 60.00% Agency Notes:  Supplier Product Code: 655288 Supplier Notes: Note of 60.00% Product Code: 655288 Supplier Notes: Note of 60.00% Product Code: 65538 Supplier Notes: Note of 60.00% Product Code: 65538 Supplier Notes: Note of 60.00% Product Code: 655313 Supplier Notes: Notices intra Trac 3 is a three-way intranasal vaccine administered in one nastril only. Includes bordetella, adenovirus, and parainfluenza. Price is \$3.52 per dose.  25717-04-03 Veterinary Drugs and Supplies: PVRCP - First Offer Supplier Product Code: 655313 Supplier Notes: Notices intra Trac 3 is a three-way intranasal vaccine administered in one nastril only. Includes bordetella, adenovirus, and parainfluenza. Price is \$3.52 per dose.  25717-04-03 Veterinary Drugs and Supplies: PVRCP - First Offer Supplier Product Code: 65541 Supplier Notes: Notices: Feline 1-HCP includes herpes, calici, and panleukopenia.  25717-04-04 Veterinary Drugs and Supplies: Rabies-1 year - First Offer Supplier Product Code: 65541 Supplier Notes: Notice: Type and Supplier Notes: Note: Note: Type and Supplier Note:					Lot Total: \$0.00
Supplier Product Code: 055288   Supplier Product Code: 055288   Supplier Product Code: 055283   Supplier Product Code: 055293   Supplier Product Code: 055294   Supplier Product Code: 05529	ltem#	Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes:    Supplier Notes: Nobioxac End Prive - distant parainfluenza, parvo virus. Price is \$3.62 per dose.	25717–04-01	Veterinary Drugs and Supplies: DAPP - First Offer	60.00%	1 / each	60.00%
Product Code: Agency Notes:  Supplier Product Code: 065313 Supplier Notes: Nobivac Inter Trac 3 is a three-way intranasal avaction administered in one nostril only. Includes bordetella, adenovirus, and parainfluenza. Price is \$3.52 per dose.  25717-04-03  Veterinary Drugs and Supplies: FVRCP - First Offer  Supplier Product Code: 065264 Supplier Notes: Nobivac Feline 1-HCP includes herpes, calici, and panieukopenia.  25717-04-04  Veterinary Drugs and Supplies: Rabies- 1 year - First Offer  Supplier Product Code: 065264 Supplier Notes: Nobivac Feline 1-HCP includes herpes, calici, and panieukopenia.  25717-04-04  Veterinary Drugs and Supplies: Rabies- 1 year - First Offer  Supplier Product Code: 065441 Supplier Notes: 1 year rabies in 5x10ml presentation only. Ou 3 yr. is available in 50x1 or 5x10ml.  25717-04-05  Veterinary Drugs and Supplies: Heartworm prevention - First Offer  Supplier Product Code: Supplier Product Code: Supplier Notes: 1 year rabies in 5x10ml presentation only. Ou 3 yr. is available in 50x1 or 5x10ml.  25717-04-05  Veterinary Drugs and Supplies: Heartworm prevention - First Offer  Supplier Product Code: Supplier Notes: 1 year Place at Plus heartworm preventative is available in 3 sizes. Please see attached price sheet I added on the catalog discount list.			Supplier Notes: Nobiv	ac DAPPv - di	
Agency Notes:    Supplier Notes: Note Notes: Note Notes: Note Notes: Note Note Note Intra Trac 3 is a three-way intranasal vaccine administered in one nostril only. Includes bordetella, adenovirus, and parainfluenza. Price is \$3.52 per dose.    25717-04-03					60.00%
Product Code: Agency Notes:  Supplier Product Code: 065264 Supplier Notes: Nobivac Feline 1-HCP incluces herpes, calici, and panleukopenia.  25717–04-04   Veterinary Drugs and Supplies: Rabies- 1 year - First Offer   60.00%   1 / each   60.00%    Product Code: Agency Notes:   Supplier Product Code: 065441   Supplier Notes: 1 year rabies in 5x10ml presentation only. Ou 3 yr. is available in 50x1 or 5x10ml.  25717–04-05   Veterinary Drugs and Supplies: Heartworm prevention - First Offer   15.00%   1 / each   15.00%    Product Code: Agency Notes:   Supplier Product Code: Supplier Notes: Tri-Heart Plus heartworm preventative is available in 3 sizes. Please see attached price sheet I added on the catalog discount list.	Agency Notes:		vaccine administered in one nostril only. Includes bord		
Agency Notes:  Supplier Notes: Nobivac Feline 1-HCP incluces herpes, calici, and panleukopenia.  25717–04-04 Veterinary Drugs and Supplies: Rabies- 1 year - First Offer  Product Code: Agency Notes:  Supplier Product Code: 065441 Supplier Notes: 1 year rabies in 5x10ml presentation only. Ou 3 yr. is available in 50x1 or 5x10ml.  25717–04-05 Veterinary Drugs and Supplies: Heartworm prevention - First Offer  Product Code: Agency Notes:  Supplier Product Code: Supplier Product Code: Supplier Notes: Tri-Heart Plus heartworm preventative is available in 3 sizes. Please see attached price sheet I added on the catalog discount list.	25717–04-03	Veterinary Drugs and Supplies: FVRCP - First Offer	60.00%	1 / each	60.00%
Product Code: Agency Notes:  Supplier Product Code: 065441 Supplier Notes: 1 year rabies in 5x10ml presentation only. Ou 3 yr. is available in 50x1 or 5x10ml.  25717–04-05   Veterinary Drugs and Supplies: Heartworm prevention - First Offer   15.00%   1 / each   15.00%    Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Tri-Heart Plus heartworm preventative is available in 3 sizes. Please see attached price sheet I added on the catalog discount list.			Supplier Notes: Nobiv		CP incluces herpes, calici,
Agency Notes:  Supplier Notes: 1 year rabies in 5x10ml presentation only. Ou 3 yr. is available in 50x1 or 5x10ml.  25717–04-05 Veterinary Drugs and Supplies: Heartworm prevention - First Offer  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes: Tri-Heart Plus heartworm preventative is available in 3 sizes. Please see attached price sheet I added on the catalog discount list.	25717–04-04	Veterinary Drugs and Supplies: Rabies- 1 year - First Offer	60.00%	1 / each	60.00%
Product Code: Agency Notes:  Supplier Product Code: Supplier Notes: Tri-Heart Plus heartworm preventative is available in 3 sizes. Please see attached price sheet I added on the catalog discount list.			Supplier Notes: 1 year	rabies in 5x1	Oml presentation only. Ou
Agency Notes: Supplier Notes: Tri-Heart Plus heartworm preventative is available in 3 sizes. Please see attached price sheet I added on the catalog discount list.	25717–04-05	Veterinary Drugs and Supplies: Heartworm prevention - First Offer	15.00%	1 / each	15.00%
25717–04-06 Veterinary Drugs and Supplies: Flea/tick prevention- canine - First Offer 15.00% 1 / each 15.00%			<b>Supplier Notes:</b> Tri-He available in 3 sizes. Plea	eart Plus heart ase see attach	
	25717–04-06	Veterinary Drugs and Supplies: Flea/tick prevention- canine - First Offer	15.00%	1 / each	15.00%

Product Code: Agency Notes:	Supplier Product Code: Bravecto Supplier Notes: We have Bravecto dog topical, or Bravecto dog chews in either one month or three month. The topical would be \$17 per dose and it lasts for three months. The cherprices are listed on the attachment I included under the catal discount page.			
25717–04-07 Veterinary Drugs and Supplies: Flea/tick prevention- feline - First Offe	r 15.00%	1 / each 15.00%		
Product Code: Agency Notes:	Supplier Product Code Supplier Notes: Pricing	le: Bravecto Topical for Cats g is on the attachment I included under ne. I have attached again.		
25717–04-08 Veterinary Drugs and Supplies: Sterile surgical gloves		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-09 Veterinary Drugs and Supplies: 2-O absorbable suture		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-10 Veterinary Drugs and Supplies: 3-O absorbable suture		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-11 Veterinary Drugs and Supplies: O absorbable suture		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-12 Veterinary Drugs and Supplies: Surgical blade-10		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-13 Veterinary Drugs and Supplies: Surgical blade- 15		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-14 Veterinary Drugs and Supplies: Non-sterile 4x4 nonwoven gauze		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-15 Veterinary Drugs and Supplies: Parvovirus test		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-16 Veterinary Drugs and Supplies: Heartworm test		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-17 Veterinary Drugs and Supplies: Doxycycline		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-18 Veterinary Drugs and Supplies: Pyrantel		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-19 Veterinary Drugs and Supplies: Fendendazole		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-20 Veterinary Drugs and Supplies: Praziquntel/ Epsiprantel		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		
25717–04-21 Veterinary Drugs and Supplies: Ponazuril		No Bids		
Agency Notes:	Supplier Product Code Supplier Notes:	le:		

25717–04-22	Veterinary Drugs and Supplies: Azithromcyin tablets			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-23	Veterinary Drugs and Supplies: Amoxicillin tablets			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-24	Veterinary Drugs and Supplies: Microchips - First Offer	80.00%	1 / each	80.00%
Product Code: Agency Notes:		is currently using Hom	is \$4.56 each a ploads from s eAgain. The m	
25717–04-25	Veterinary Drugs and Supplies: Ketamine			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-26	Veterinary Drugs and Supplies: Tiltetamine/zolazepam			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-27	Veterinary Drugs and Supplies: Butorphanol			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-28	Veterinary Drugs and Supplies: Xylazine			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-29	Veterinary Drugs and Supplies: Euthasol			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-30	Veterinary Drugs and Supplies: Isoflurane			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-31	Veterinary Drugs and Supplies: 1 mL syringes			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-32	Veterinary Drugs and Supplies: 3 mL syringes with 22g needles			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-33	Veterinary Drugs and Supplies: 3 mL syringes			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-34	Veterinary Drugs and Supplies: 20 gauge needles			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-35	Veterinary Drugs and Supplies: 22 gauge needles			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-36	Veterinary Drugs and Supplies: 25 gauge needles			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
25717–04-37	Veterinary Drugs and Supplies: 5 mL syringes			No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:	

-		Supplier Notes:		<b>Lot Total:</b> \$0.00
Agency Notes	:	Supplier Product Cod	e:	
25717–05-01	W-9: W-9			No Bids
Item#	Line Item	Unit Price	Qty/Unit	Total Price
				<b>Lot Total:</b> \$0.00
Agency Notes	:	Supplier Product Cod Supplier Notes:	e:	
25717–04-44	Veterinary Drugs and Supplies: Immiticide			No Bids
Agency Notes	:	Supplier Product Cod Supplier Notes:	e:	
25717–04-43	Veterinary Drugs and Supplies: Diroban			No Bids
Agency Notes	:	Supplier Product Cod Supplier Notes:	e:	
25717–04-42	Veterinary Drugs and Supplies: Kitten milk replacer			No Bids
Agency Notes	:	Supplier Product Cod Supplier Notes:	e:	
25717–04-41	Veterinary Drugs and Supplies: Puppy milk replacer			No Bids
Agency Notes	:	Supplier Product Cod Supplier Notes:	e:	
25717–04-40	Veterinary Drugs and Supplies: Size 40 clipper blades			No Bids
Agency Notes	:	Supplier Product Cod Supplier Notes:	e:	
25717–04-39	Veterinary Drugs and Supplies: Size 10 clipper blades			No Bids
Agency Notes	:	Supplier Product Cod Supplier Notes:	e:	
25717–04-38	Veterinary Drugs and Supplies: 10 mL syringes			No Bids

MVS				\$	0.00 (48/50 ite	:ms)
Bid Contact	Alissa Davis <u>mvsbids@midwestvet.net</u> Ph 210-848-1057	,	Address <b>21467 Holyoke Avenue Lakeville, MN 55044</b>			
Qualifications	CS ARCH ENG					
Agency Notes			Supplier Notes:			
Item#	Line Item		Unit Price	Qty/Unit	Total F	rice
25717–01-01	Delive	ry: Stock - First Offer		1 / day		
Agency Notes			Supplier Product Control Supplier Notes: 2-3 business days for		,	
25717–01-02	Delivery: N	on-Stock - First Offer		1 / day		
Product Code: Agency Notes			Supplier Product C Supplier Notes: 5-10 business days f		items	

				<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25717–02-01	Freight Charges: Freight Charges - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Freight charges inclu		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
25717–03-01	Discount: Discount from Catalog or Price List			No Bids
Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
25717–03-02	Discount: Discount from Website Pricing			No Bids
Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
				<b>Lot Total:</b> \$0.00
	Line Item	Unit Price	Qty/Unit	Total Price
25717–04-01	Veterinary Drugs and Supplies: DAPP - First Offer		1 / each	60.00%
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: https://www.midwes		m/products
25717–04-02	Veterinary Drugs and Supplies: Intra-Trac 3 - First Offer			
23/1/ 04 02	veterinary Drugs and Supplies, intra-mac 3 - First Offer	60.00%	1 / each	60.00%
Product Code: Agency Notes:	, <u>, , , , , , , , , , , , , , , , , , </u>	60.00%  Supplier Product Co Supplier Notes: https://www.midwes	ode: 065313	
Product Code:	, <u>, , , , , , , , , , , , , , , , , , </u>	Supplier Product Co Supplier Notes: https://www.midwes	ode: 065313	
Product Code: Agency Notes:	Veterinary Drugs and Supplies: FVRCP - First Offer	Supplier Product Co Supplier Notes: https://www.midwes	ode: 065313 stvetsupply.coi 1 / each ode: 065264	m/products 60.00%
Product Code: Agency Notes: 25717–04-03 Product Code:	Veterinary Drugs and Supplies: FVRCP - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 60.00% Supplier Product Co Supplier Notes: https://www.midwes	ode: 065313 stvetsupply.coi 1 / each ode: 065264	m/products 60.00%
Product Code: Agency Notes: 25717–04-03 Product Code: Agency Notes:	Veterinary Drugs and Supplies: FVRCP - First Offer  Veterinary Drugs and Supplies: Rabies- 1 year - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 60.00% Supplier Product Co Supplier Notes: https://www.midwes	ode: 065313 stvetsupply.coi 1 / each ode: 065264 stvetsupply.coi 1 / each ode: 065441	m/products 60.00% m/products 60.00%
Product Code: Agency Notes: 25717–04-03 Product Code: Agency Notes: 25717–04-04 Product Code:	Veterinary Drugs and Supplies: FVRCP - First Offer  Veterinary Drugs and Supplies: Rabies- 1 year - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 60.00% Supplier Product Co Supplier Notes: https://www.midwes 60.00% Supplier Product Co Supplier Notes: https://www.midwes	ode: 065313 stvetsupply.coi 1 / each ode: 065264 stvetsupply.coi 1 / each ode: 065441	m/products 60.00% m/products 60.00%
Product Code: Agency Notes: 25717–04-03 Product Code: Agency Notes: 25717–04-04 Product Code: Agency Notes:	Veterinary Drugs and Supplies: FVRCP - First Offer  Veterinary Drugs and Supplies: Rabies- 1 year - First Offer  Veterinary Drugs and Supplies: Heartworm prevention - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 60.00% Supplier Product Co Supplier Notes: https://www.midwes 60.00% Supplier Product Co Supplier Notes: https://www.midwes	ode: 065313 stvetsupply.coi 1 / each ode: 065264 stvetsupply.coi 1 / each ode: 065441 stvetsupply.coi 1 / each	m/products 60.00% m/products 60.00% m/products 0.00%

Product Code: Agency Notes:		Supplier Product Code: D73840E Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-07	Veterinary Drugs and Supplies: Flea/tick prevention- feline - First Offer	0.00% 1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: 10020415 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-08	Veterinary Drugs and Supplies: Sterile surgical gloves - First Offer	13.80% 1 / each	13.80%
Product Code: Agency Notes:		Supplier Product Code: 2370 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-09	Veterinary Drugs and Supplies: 2-O absorbable suture - First Offer	11.80% 1 / each	11.80%
Product Code: Agency Notes:		Supplier Product Code: PS0943 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-10	Veterinary Drugs and Supplies: 3-O absorbable suture - First Offer	13.80% 1 / each	13.80%
Product Code: Agency Notes:		Supplier Product Code: PS0942 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-11	Veterinary Drugs and Supplies: O absorbable suture - First Offer	13.80% 1 / each	13.80%
Product Code: Agency Notes:		Supplier Product Code: PS0967 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-12	Veterinary Drugs and Supplies: Surgical blade-10 - First Offer	19.50% 1 / each	19.50%
Product Code: Agency Notes:		Supplier Product Code: 2976#10 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-13	Veterinary Drugs and Supplies: Surgical blade- 15 - First Offer		19.50%
Product Code: Agency Notes:		Supplier Product Code: 2976#15 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-14	Veterinary Drugs and Supplies: Non-sterile 4x4 nonwoven gauze - First Offer	0.00% 1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: 20045 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-15	Veterinary Drugs and Supplies: Parvovirus test - First Offer	7.00% 1 / each	7.00%
Product Code: Agency Notes:		Supplier Product Code: VINV-MODE-0007 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-16	Veterinary Drugs and Supplies: Heartworm test - First Offer	0.00% 1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: VINV-MODE-0005 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-17	Veterinary Drugs and Supplies: Doxycycline - First Offer	11.80% 1 / each	11.80%
Product Code: Agency Notes:		Supplier Product Code: 191.42390.3 Supplier Notes: https://www.midwestvetsupply.com/products	
25717–04-18	Veterinary Drugs and Supplies: Pyrantel - First Offer	12.80% 1 / each	12.80%
Product Code: Agency Notes:		Supplier Product Code: 21013 Supplier Notes: https://www.midwestvetsupply.com/products	

,				
25717–04-19	Veterinary Drugs and Supplies: Fendendazole - First Offer	0.00%   1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: 069267 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-20	Veterinary Drugs and Supplies: Praziquntel/ Epsiprantel - First Offer	2.30% 1 / each	2.30%	
Product Code: Agency Notes:		Supplier Product Code: 1PRA005 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-21	Veterinary Drugs and Supplies: Ponazuril - First Offer	0.00% 1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: 126674 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-22	Veterinary Drugs and Supplies: Azithromcyin tablets - First Offer	11.90% 1 / each	11.90%	
Product Code: Agency Notes:		Supplier Product Code: 191.19205.3 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-23	Veterinary Drugs and Supplies: Amoxicillin tablets - First Offer	0.00% 1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: 191.14977.3 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-24	Veterinary Drugs and Supplies: Microchips - First Offer	0.00% 1 / each		
Product Code: Agency Notes:		Supplier Product Code: VINV-DATA-0002 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-25	Veterinary Drugs and Supplies: Ketamine - First Offer	0.00% 1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: KET-10 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-26	Veterinary Drugs and Supplies: Tiltetamine/zolazepam - First Offer			
Product Code: Agency Notes:	, <u>G</u> 11	Supplier Product Code: 17033-010-05 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-27	Veterinary Drugs and Supplies: Butorphanol - First Offer	0.00% 1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: BUT-10 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-28	Veterinary Drugs and Supplies: Xylazine - First Offer	0.00% 1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No bid		
25717–04-29	Veterinary Drugs and Supplies: Euthasol - First Offer	0.00% 1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: 0470010 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-30	Veterinary Drugs and Supplies: Isoflurane - First Offer	0.00% 1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: ISO-250 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-31	Veterinary Drugs and Supplies: 1 mL syringes - First Offer	17.60% 1 / each	17.60%	
Product Code: Agency Notes:		Supplier Product Code: EXE 26048 Supplier Notes: https://www.midwestvetsupply.com/products		
25717–04-32	Veterinary Drugs and Supplies: 3 mL syringes with 22g needles - First Offer	17.70% 1 / each	17.70%	
Product Code: Agency Notes:		Supplier Product Code: EXE 26115 Supplier Notes:		

Veterinary Drugs and Supplies: 10 mL syringes - First Offer  Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer  Veterinary Drugs and Supplies: Puppy milk replacer - First Offer  Veterinary Drugs and Supplies: Kitten milk replacer - First Offer  Veterinary Drugs and Supplies: Diroban - First Offer  Veterinary Drugs and Supplies: Immiticide - First Offer	Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 26266 stvetsupply.coi  1 / each ode: 78919046 stvetsupply.coi  1 / each ode: 78919016 stvetsupply.coi  1 / each ode: 99501 stvetsupply.coi  1 / each ode: 99514 stvetsupply.coi  1 / each ode: 10012868 stvetsupply.coi  1 / each ode: 144999	m/products  13.80% 5005  m/products  13.80% 5005  m/products  17.60%  m/products  17.70%  m/products  0.00%  3  m/products  0.00%
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer  Veterinary Drugs and Supplies: Puppy milk replacer - First Offer  Veterinary Drugs and Supplies: Kitten milk replacer - First Offer  Veterinary Drugs and Supplies: Diroban - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 17.60% Supplier Product Co Supplier Notes: https://www.midwes 17.70% Supplier Product Co Supplier Notes: https://www.midwes 0.00% Supplier Product Co Supplier Notes: https://www.midwes 0.00% Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 26266 stvetsupply.coi  1 / each ode: 78919046 stvetsupply.coi  1 / each ode: 78919016 stvetsupply.coi  1 / each ode: 99501 stvetsupply.coi  1 / each ode: 99514 stvetsupply.coi  1 / each ode: 10012868 stvetsupply.coi  1 / each ode: 144999	m/products  13.80%  5005  m/products  13.80%  5005  m/products  17.60%  m/products  17.70%  m/products  0.00%  m/products  0.00%  m/products
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer  Veterinary Drugs and Supplies: Puppy milk replacer - First Offer  Veterinary Drugs and Supplies: Kitten milk replacer - First Offer  Veterinary Drugs and Supplies: Diroban - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 17.60% Supplier Product Co Supplier Notes: https://www.midwes 17.70% Supplier Product Co Supplier Notes: https://www.midwes 0.00% Supplier Product Co Supplier Notes: https://www.midwes 0.00% Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 26266  stvetsupply.coi  1 / each ode: 78919046  stvetsupply.coi  1 / each ode: 78919016  stvetsupply.coi  1 / each ode: 99501  stvetsupply.coi  1 / each ode: 99514  stvetsupply.coi  1 / each ode: 10012868  stvetsupply.coi  1 / each	m/products  13.80%  5005  m/products  13.80%  5005  m/products  17.60%  m/products  17.70%  m/products  0.00%  3  m/products
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer  Veterinary Drugs and Supplies: Puppy milk replacer - First Offer  Veterinary Drugs and Supplies: Kitten milk replacer - First Offer  Veterinary Drugs and Supplies: Diroban - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 17.60% Supplier Product Co Supplier Notes: https://www.midwes 17.70% Supplier Product Co Supplier Notes: https://www.midwes 0.00% Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 2626:  stvetsupply.coi  1 / each  ode: 78919046  stvetsupply.coi  1 / each  ode: 78919016  stvetsupply.coi  1 / each  ode: 99501  stvetsupply.coi  1 / each  ode: 99514  stvetsupply.coi  1 / each  ode: 10012868  stvetsupply.coi	m/products  13.80%  5005  m/products  13.80%  5005  m/products  17.60%  m/products  17.70%  m/products  0.00%  3  m/products
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer  Veterinary Drugs and Supplies: Puppy milk replacer - First Offer  Veterinary Drugs and Supplies: Kitten milk replacer - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 17.60% Supplier Product Co Supplier Notes: https://www.midwes 17.70% Supplier Product Co Supplier Product Co Supplier Notes: https://www.midwes 0.000%	ode: EXE 2626:  stvetsupply.coi  1 / each ode: 78919046  stvetsupply.coi  1 / each ode: 78919016  stvetsupply.coi  1 / each ode: 99501  stvetsupply.coi  1 / each ode: 99514  stvetsupply.coi  1 / each	m/products  13.80% 5005  m/products  13.80% 5005  m/products  17.60%  m/products  17.70%
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer  Veterinary Drugs and Supplies: Puppy milk replacer - First Offer  Veterinary Drugs and Supplies: Kitten milk replacer - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 17.60% Supplier Notes: https://www.midwes 17.70% Supplier Product Co Supplier Product Co Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 2626:  stvetsupply.coi  1 / each  ode: 78919046  stvetsupply.coi  1 / each  ode: 78919016  stvetsupply.coi  1 / each  ode: 99501  stvetsupply.coi  1 / each  ode: 99514  stvetsupply.coi	m/products  13.80%  5005  m/products  13.80%  5005  m/products  17.60%  m/products  17.70%
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer  Veterinary Drugs and Supplies: Puppy milk replacer - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 17.60% Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 2626: stvetsupply.coi 1 / each ode: 78919046 stvetsupply.coi 1 / each ode: 78919016 stvetsupply.coi 1 / each ode: 99501 stvetsupply.coi 1 / each	m/products 13.80% 6005 m/products 13.80% 6005 m/products 17.60% m/products
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 17.60% Supplier Product Co Supplier Product Co	ode: EXE 2626: stvetsupply.coi 1 / each ode: 78919046 stvetsupply.coi 1 / each ode: 78919016 stvetsupply.coi 1 / each ode: 99501	m/products 13.80% 5005 m/products 13.80% 5005 m/products 17.60%
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer  Veterinary Drugs and Supplies: Size 40 clipper blades - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 2626: stvetsupply.coi 1 / each ode: 78919046 stvetsupply.coi 1 / each ode: 78919016 stvetsupply.coi	m/products  13.80%  5005  m/products  13.80%  5005  m/products
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes:	ode: EXE 26266 stvetsupply.coi 1 / each ode: 78919046 stvetsupply.coi 1 / each ode: 78919016	m/products 13.80% 5005 m/products 13.80% 5005
Veterinary Drugs and Supplies: Size 10 clipper blades - First Offer	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 2626: stvetsupply.coi 1 / each ode: 78919046 stvetsupply.coi	m/products 13.80% 5005 m/products
	Supplier Product Co Supplier Notes: https://www.midwes 13.80% Supplier Product Co Supplier Notes:	ode: EXE 2626: stvetsupply.coi 1 / each ode: 78919046	m/products 13.80% 5005
	Supplier Product Co Supplier Notes: https://www.midwes	ode: EXE 2626 stvetsupply.com	m/products
Veterinary Drugs and Supplies: 10 mL syringes - First Offer			5
Veterinary Drugs and Supplies: 10 ml syringes - First Offer	17.60%	Supplier Product Code: EXE 26265	
	https://www.midwes	stvetsupply.coi	m/products 17.60%
	Supplier Product Co Supplier Notes:	ode: EXE 2623	0
Veterinary Drugs and Supplies: 5 mL syringes - First Offer	https://www.midwes	stvetsupply.coi 1 / each	m/products 17.60%
	Supplier Product Code: EXE 26403 Supplier Notes:		
Veterinary Drugs and Supplies: 25 gauge needles - First Offer	https://www.midwes	1 / each	m/products 19.50%
vetermary Brags and Supplies. 22 gauge needles This one	Supplier Product Code: EXE 26410 Supplier Notes:		
Veterinary Drugs and Sunnlies: 22 gauge needles - First Offer	https://www.midwestvetsupply.com/products		
vetermary brugs and supplies. 20 gauge needles - First Offer	Supplier Product C		
Veterinan Drugs and Supplies 20 gauge peoples. First Offer	Supplier Notes: https://www.midwes	stvetsupply.com	
Veterinary Drugs and Supplies: 3 mL syringes - First Offer			17.70%
	Veterinary Drugs and Supplies: 3 mL syringes - First Offer  Veterinary Drugs and Supplies: 20 gauge needles - First Offer  Veterinary Drugs and Supplies: 22 gauge needles - First Offer  Veterinary Drugs and Supplies: 25 gauge needles - First Offer	Veterinary Drugs and Supplies: 3 mL syringes - First Offer  Supplier Product Content Supplier Notes: https://www.midwes  Veterinary Drugs and Supplies: 20 gauge needles - First Offer  Supplier Product Content Supplier Notes: https://www.midwes  Veterinary Drugs and Supplies: 22 gauge needles - First Offer  Veterinary Drugs and Supplies: 22 gauge needles - First Offer  Veterinary Drugs and Supplies: 25 gauge needles - First Offer  Veterinary Drugs and Supplies: 25 gauge needles - First Offer  19.50%	Supplier Product Code: EXE 2620 Supplier Notes: https://www.midwestvetsupply.co  Veterinary Drugs and Supplies: 20 gauge needles - First Offer  Supplier Product Code: EXE 2643 Supplier Notes: https://www.midwestvetsupply.co  Veterinary Drugs and Supplies: 22 gauge needles - First Offer  17.60%  1 / each  Supplier Product Code: EXE 2641 Supplier Product Code: EXE 2641 Supplier Notes: https://www.midwestvetsupply.co  Veterinary Drugs and Supplies: 25 gauge needles - First Offer  19.50%  1 / each

	Close Print	
Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.